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UNIT: 6 FACTORS PRICING

Land, labour, capital, and organization are the factor of production. Rent, wage, interest, and profit are reward given or price paid to the factors of production (land, labour, capital, and organization respectively). In the Theory of Factors Pricing, we study how the rent, wage, interest, and profit are determined. Theory of Factors Pricing is also called Theory of Distribution.

Rent

In ordinary sense, rent is periodical payment made for hiring of different items, such as land, building, car, television, etc. In this way, the term 'rent' is used in broad sense in ordinary speech. However, 'rent' is used in a special sense in economics. Therefore, rent refers to that part of the payment by a tenant which is made only for the use of land. According to Alfred Marshall, 
" income derived from the ownership of land and other free gift of nature is commonly called rent".

Economic Rent

Economic rent is the payment made by tenant to the owner of the land for the use of original and indestructible power of soil or land only. In other words, the difference between output of superior and inferior lands is called economic rent. For example: there are two plots of land, say A and B. Plot A produces 350 kg wheat and plot B produces 300 kg by using equal amount of inputs. Here, plot A is superior or super marginal land and plot B is inferior or marginal land. Now, economic rent= 350 kg - 300 kg = 50 kg. Therefore, economic rent is the surplus rent earned by a superior land due to its fertility over the marginal or inferior land.

Contract Rent

Contract rent is the total payment made by a tenant to the landlord. It is determined by a mutual agreement between landlord and tenant. Demand for and supply of land play important role in the fixation of contract rent. If supply of land is greater than its demand, contract rent will be low due to the competition among landlords. On the other hand, if the demand for land is greater than its supply, contract rent will be high due to the competition among tenants to get land from the landlords. In fact, contract rent is the gross rent which includes economic rent (pure rent), wage, interest, depreciation, profit, etc.

Contract Rent = Economic Rent +Wage+ Interest + Depreciation + Profit

Distinction/Difference between Economic and Contract Rent

	Basis of difference
	Economic rent(ER)
	Contract rent(CR)

	Meaning
	Economic rent is the payment made by the tenant to the owner of land for the use of land only. 
	Contract rent is the total payment made by the tenant to the owner of land for the use of land, labor, capital and organization. 

	Calculation
	Economic Rent = Output of superior land - Output of inferior land
	Contract rent is determined by the agreement between tenants and landlords.

	Types
	Economic rent is pure rent.
	Contract rent is gross rent.

	Determinants
	Economic rent depends upon the output of superior and inferior lands.
	Contract rent depends upon the demand for and supply of lands


Ricardian Theory of Rent

This theory was propounded by David Ricardo (1772-1823). According to Ricardo, "rent is that portion of the produce of earth which is paid to the landlord for the use of the original and indestructible power of soil".

Rent is differential surplus yielded by more fertile land over less fertile land. Difference in fertility power of soil is the main factor giving rise to rent. If all lands are homogeneous, rent does not arise.

Assumptions:

i. Rent arises due to peculiar character of land like inelastic supply and difference in fertility.

ii. Land has original and indestructible power.

iii. Law of diminishing returns applies in agriculture.

iv. Lands are cultivated in descending order in a country.

v. Perfect competition exists between farmers and landlords.

This theory can be explained with the help of table and figure given below:

Table: Ricardian theory of rent
	Grade of land


	Total product of wheat in MT(TP)
	Rent in MT

	A
	100
	100 – 25 = 75

	B
	75
	75 – 25 = 50

	C
	50
	50 – 25 = 25

	D
	25
	25 – 25 = 0


According to given table, land A, B, C, and D generate 100MT, 75MT, 50MT, and 25MT wheat respectively. Land A is the most fertile land and land D is the least fertile land. In other words, land D is marginal land and land A is super marginal land. Lands B and C are also super marginal land. Now, lands A, B, and C generate rent equals to 75MT, 50MT, and 25MT respectively. Land D does not generate rent because it is marginal land.
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                                      Fig. Ricardian theory of rent

In the given figure, X-axis represents grade of land and Y-axis represents total products. The total products generated by the lands are represented by respective rectangles along X-axis. The shaded area of the figure represents total rent.

Criticisms:

(i) No original and indestructible power of soil: According to Ricardo, soil has original and indestructible power. But, soil has neither original nor indestructible power. Fertility power of soil can be increased through scientific manuring and it can be destroyed through reckless cropping.

(ii) Imaginary and unrealistic: This theory is imaginary and unrealistic because it is based on imaginary and unrealistic assumption like perfect competition between farmers and landlords, indestructible power of soil, etc.

(iii) No marginal land: It is pointed out that Ricardo's marginal land is not necessarily found in every country. In thickly populated country, pressure of population on land is heavy and then even the most inferior land generates rent.

(iv) Not applicable Ricardo's order of cultivation: It is pointed out that Ricardo's order of cultivation is historically wrong. Ricardo's order of cultivation was 'from the most fertile to the least fertile'. According to Henery Carey, less productive lands were cultivated first and more productive lands were cultivated later in America.

(v) No mention of alternative uses of land: David Ricardo assumed that land could be used only for cultivation. But, land can be used for other purposes as well like urbanization, playing ground, road construction, etc., i.e. Ricardo did not mention alternative uses of land.

Wages

Prices paid to the labourers for the use of their labours are called wages. In economics, labour includes both physical and mental labour. So, wages are the prices of both physical and mental labours. In ordinary sense, wage refers to the price of only physical labour and the term ‘salary’ is used to indicate the price of mental labour.

Money Wage and Real Wage

Money wage refers to the price paid to the labourers in the form of money. It is also known as nominal wage. If a lecturer of a college gets Rs.30,000 per month, it is his money or nominal wage. Labourers prefer money or nominal wage because they can fulfill their multiple wants with money.

Real wage refers to the price paid to the labourers in the form of goods or services. If a labourer of a factory gets facilities like food, shelter, cloth, recreation, etc., such facilities are his/her real wage. Real wage shows purchasing power of money. Real wage can be calculated by dividing money wage by general price level.

Mathematically,

                    RW = MW/ P

                    Where,

                        RW = Real wage

                       MW = Money wage

                           P = General price level

Money wage remaining constant, when general price level increases, real wage decreases and vice versa.
Determinants (Real Wage)
Following factors determine the real wage:

i.Purchasing power of money: Purchasing power of money refers to power of money to buy goods and services. If purchasing power of money is more, the real wage will be higher and vice versa. The purchasing power of money inversely relates with the general price level.

ii.Additional facilities: If a labourer gets more additional facilities along with money wage, his real wage will be higher and vice versa. So, real wage of a labourer can be increased by providing facilities like free quarters, cheap rations, vehicle allowance, etc.

iii.Social prestige: If a person is doing socially prestigious job, his real wage will be higher. For example: real wage of a judge of a court may be higher than the real wage of a manager of an insurance company because judicial occupation is socially prestigious.

iv.Possibility of promotion and future prospects(chance of being successful): If possibility of promotion and future prospects are greater, real wage increases and vice versa..

v.Nature of works: If works are risky and harmful to the health, money wage may be higher, but real wage becomes low. 

Subsistence Theory of Wages

This theory was first put forward by Francois Quesnay (1694-1774). Later David Ricardo developed it. Professor Lassalle called it ‘iron law of wage’ whereas Karl Marx renamed it as ‘theory of exploitation’.

According to this theory, wage tends to remain at the subsistence level, which is just enough for food, shelter and clothing. If wage rises above subsistence level, it will encourage workers to marry and to have a large family. As a result, population increases and then wage level falls to subsistence level due to the competition among workers for employment. On the other hand, if wage falls below the subsistence level, population decreases because of starvation, malnutrition, various diseases, etc. As a result, wage rate rises to subsistence level.

This theory concludes that wage paid to the workers will be equal to what is required to maintain their subsistence life. Any deviation from subsistence wage will be unstable.

Criticisms

(i)One sided theory: This theory explains just about the supply of labor. It ignores demand side of labor. Both demand for and supply of labor are equally important in determining wage rate in the labor market.

(ii)Wrong assumption about labor supply: This theory assumes that every increase in wage level will increase the supply of labor in the market. But, this is not true because when wage rate increases, workers prefer smaller family in order to raise standard of living and then supply of labor goes down.

(iii) Wrong assumption about wage rate: This theory assumes that wage rate is same for all types of workers. But, workers are paid according to their working efficiency, productivity, experience and degree of knowledge in reality.

(iv)It ignores division of labor: Division of labor increases the efficiency and productivity of laborers. Workers having higher efficiency and productivity get higher wage rate. So, division of labor is essential in the production process. But, this theory ignores the division of labor.

(v) Pessimistic theory: This theory is pessimistic. It claims that wage rate tends to remain at subsistence level. It discourages workers to work hard and perform better in their jobs because it gives dark future of workers. 

Wage Fund Theory of Wage

Wage fund theory of wage was developed by J.S. Mill (1806 – 1873) in 19th century. According to this theory, a fixed proportion of the capital of a country has to be set apart for the payment of wage of laborers. This fixed proportion is known as wage fund. The rate of wage is determined by dividing this fund by the number of laborers.

Mathematically, 

                     WR = WF / NW
                     Where, 

                            WR = Wage Rate

                            WF = Wage Fund

                            NW = Number of Workers

Thus, wage rate can be increased by increasing the amount of wage fund or by decreasing supply of workers. Wage fund remaining constant, when number of workers decreases; wage rate goes up and vice versa. Similarly, number of workers remaining constant, when amount of wage fund increases, wage rate rises and vice versa.

Criticisms

(i)Unscientific theory: This theory assumes that volume of wage fund of a nation remains constant in long run. This is not true because size of the wage fund depends upon the number of workers, economic growth and development. So, this theory could not analyze the determination of wage rate in scientific way.

(ii)Based on wrong assumption: This theory assumes that all workers have equal efficiency, productivity, education and knowledge and they are paid same amount. But, workers are paid according to their working efficiency, productivity, experience and degree of knowledge in reality.

(iii)It ignores influence of trade unions: In reality, trade unions play vital role in determining wage rate. But, the theory could not address the role of trade union in determining wage rate.

(iv)It ignores division of labor: Division of labor increases the efficiency and productivity of laborers. Workers having higher efficiency and productivity get higher wage rate. So, division of labor is essential in the production process. But, this theory ignores the division of labor.

(v) Traditional attitude: This theory assumes that a nation should set apart a fixed proportion of a nation's capital before determining wage rate and making payment to the workers. In modern business organization, workers are employed first and necessary arrangement of wage fund and payment are made afterward.

Interest

Interest is the price paid by borrower to the lender for the use of capital. Suppose, Rs 1,00,000 is borrowed by Mr. 'B' from Mr. 'A'. If Mr. B returns Rs. 1,10,000 after one year, Rs 10,000 will be interest earned by Mr. 'A'. Here, rate of interest is equal to 10%. According to J.L. Hansen, “interest is a payment for the use of a certain sum of money for an agreed period of time”.
Gross and Net Interest

The total payment made by borrower to lender is known as gross interest. Net interest is the price paid for the use of capital only. Gross interest includes net interest as well. Gross interest includes following elements:

(i)Payment for risk: When money is lent, there is a risk that loan may not be repaid. So, lender charges additional interest, which is called payment for risk.

(ii)Payment for inconvenience: Money of lender locks up for a certain period of time. If he needs money, he has to borrow from others. Therefore, he compensates himself by charging more than net interest.

(iii)Payment for management: Lender has to keep account. He has to remind the borrowers by post or personal visit or phone and fax. Therefore, he charges more interest than net interest.   

(iv)Net or pure interest: Price paid for the use of capital only is called net or pure interest.

Gross interest = Payment for risk + Payment for inconvenience + Payment for management + Pure or net interest.  

Classical Theory of Interest

This theory was propounded by classical economists like David Ricardo, J.S. Mill, etc. According to this theory, interaction between demand for and supply of capital determines rate of interest.

Assumptions:

i. Perfect competition exists in the factors market.

ii. All resources are fully employed.

iii. Price level remains constant.

iv. Money is used only for medium of exchange.

Following 3 conditions are necessary to determine equilibrium rate of interest:

i. Saving or supply of capital (S) is the positive function of rate of interest (i).

                          Mathematically,

                                     S = f(i), i.e. i↑→ S↑ and i↓→ S↓

ii. Investment or demand for capital (I/D) is the inverse function of rate of interest (i).

                             Mathematically,

                                     I or D = f(i), i.e. i↓→ I↑ or D↑ and i↑→ I↓ or D↓

iii. Saving or supply of capital must be equal to the investment or demand for capital

                            Mathematically,

                                                S = I

This theory can be explained with the help of table and figure given below:

Table: Demand and supply schedule
	Rate of interest in percent (i)
	Demand for capital in Rs. billion  (D)
	Supply  of capital in Rs. billion (S)
	Remarks

	1
	10
	2
	D>S

	2
	8
	4
	D>S

	3
	6
	6
	D=S

	4
	4
	8
	S>D

	5
	2
	10
	S>D


According to given table, demand for capital declines due to the rise in rate of interest. On the other hand, supply of capital rises due to the rise in rate of interest. Demand for and supply of capital are equal at 3 percent rate of interest. So, 3 percent is equilibrium rate of interest and 6 billion is the equilibrium quantity of capital.
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                                  Fig. Classical theory of interest

In the given figure, X-axis represents qty. of capital and Y-axis represents rate of interest. According to the figure, DD and SS curves are demand and supply curve of capital respectively which are intersected with each other at point E. Consequently, Oi equilibrium rate of interest and OQ equilibrium qty. of capital are determined in the market. If the rate of interest rises from i to i1, supply of capital exceeds demand for capital by AB. Consequently, rate of interest declines from i1 to i. On the other hand, if rate of interest declines from i to i2, demand for capital exceeds supply of capital by RT. Consequently, rate of interest rises from i2 to i. In this way, any deviation from equilibrium rate of interest will be unstable.

Criticisms

(i) Interest, not reward for saving only: According to this theory, interest is reward for saving only, i.e. only those people who save money can earn interest. But, J.M. Keynes claimed that an individual can earn interest by lending money which he/she has not saved, but inherited from his/her forefathers. If a person hoards his savings in cash form, he cannot earn interest.

(ii) Saving and investment, not interest elastic only: This theory assumes that saving and investment are interest elastic only, i.e. saving and investment depend upon rate of interest only. But, saving mainly depends upon income level and investment also depends upon marginal efficiency of capital (MEC).

(iii) No neutral role of money: This theory assumes that role of money in the economy is neutral because money is used only for medium of exchange, i. e. it ignores important function of money like store of value, transfer of value, etc.

(iv) Narrow view of supply of capital: This theory includes saving only in the supply of capital, i.e. only saving is the source of capital. But, bank money, newly created money, etc. are also the source of capital.

(v) Narrow view of demand for capital: According to this theory, capital is demanded only for investment. But in reality, capital is also demanded for consumption and other purposes.

(vi) Unrealistic theory: This theory is unrealistic because fundamental assumptions of this theory are unrealistic like perfect competition in factors market, full employment of resources etc.

Profit

Profit is reward for entrepreneurs. Profit may be defined as the net income of a business after deduction all other costs. Total income - Rent – Wage - Interest = Profit. Therefore, if total income equals to total cost, profit becomes zero.

Gross and Net Profit

Gross profit is the total revenue minus total cost. Net profit is a reward given to an entrepreneur only for risk bearing. Gross profit includes following elements:

(i)Depreciation and maintenance charge: Provision made for the maintenance or replacement of capital is known as depreciation and maintenance charge.

(ii) Extra personal gain: Extra personal gain arises because of two reasons (a) monopoly gain and (b) windfall gain. Monopoly gain refers to abnormal profit of monopolist and windfall gain means additional reward yielded by the occurrence of unforeseen circumstances.

(iii)Reward for the factors of production supplied by the entrepreneur himself/herself: Entrepreneur may use his own land, invest his own capital and work as a manager. He does not receive any reward for his own land, capital, and work as manager separately. 

(iv)Net or Pure Profit: Net or pure profit is a reward given to an entrepreneur only for risk bearing. Net profit is reward for co-ordination, innovation, and bargaining skill as well.

Gross Profit = Depreciation and maintenance charges + Extra personal gain + Salary as a manager + Rent for own land + Interest for own capital + Net profit.

Risk Theory of Profit

This theory was propounded by an American economist Prof. Hawley in 1907. According to this theory, profit is the reward for risk-taking in business. Every business involves some risk and the entrepreneurs undertake the risk. Therefore, the entrepreneur receives reward as profit. If the entrepreneur does not receive reward, he/she will not be prepared to undertake the risk. Thus, (i) higher the risk, higher the profit, (ii) lower the risk, lower the profit, and (iii) no risk, no profit.
Criticisms

The major drawbacks of risk theory of profit are as follows:

(i) No direct relation between risk and profit: There is no direct relationship between risk and profit. High risk may not lead greater profit. In reality, profit is influenced by several factors. Profit may arise due to superior ability or monopoly power.

(ii) Reward for risk avoidance: According to critics, profit is the reward given for risk avoidance rather than risk taking. This theory claims that profit is the reward for risk taking.

(iii) Unforeseeable risks: According to Prof. Knight, profit does not arise due to all kinds of risks. Knight divided risks into two types, namely (i) foreseeable risk and (ii) unforeseeable risk and then he has claimed that the profit arises only due to unforeseeable risks, such as fall in price, change in fashion, etc.

Uncertainty-Bearing Theory of Profit

This theory was first propounded by the American economist Prof. Knight in 1921. According to Prof. Knight, profit is the reward of uncertainty bearing in business. An entrepreneur receives profit because he bears uncertainty in business. Prof. Knight divided risk under two headings as: 

(i) Foreseeable risks: The foreseeable risk is that risk which can be foreseen by the entrepreneurs. This type of risk can be reduced through insurance. For example: the risk of fire in a factory is a foreseeable risk and can be reduced through fire insurance. Foreseeable risks are insurable. Therefore, profit is not reward for foreseeable risks.

(ii) Unforeseeable risks: The unforeseeable risk is that risk which cannot be foreseen by the entrepreneurs. This type of risk cannot be reduced through insurance. It means unforeseeable risks are uninsurable risks. Profit arises due to these unforeseeable risks. Some unforeseeable risks are as follows:

(a) Competitive risk: Some new firms might enter into the industry and then the firms have to face serious competition among themselves. This will lower down the profit of the firm.

(b) Technical risk: The existing firms may not able to gain profit due to new technique of production. Such firms may suffer losses in competition with other firms.

(c) Risk of government intervention: The government may intervene into the affairs of the industry by fixing the maximum price of the product. This reduces the profit of the firms.

(d) Business cycle risk: Depression phase of business cycle has negative effect in the production process because it reduces the profit of the firm.

Criticisms

The major criticisms of this theory are as follows:

(i) No relation with uncertainty: According to the uncertainty bearing theory of profit, there is direct relationship between profit and uncertainty bearing. However, this is not always true. During depression phase of business cycle, an entrepreneur earns no profit although he/she is ready to bear uncertainty.

(ii) Uncertainty-bearing, not the sole determinant: Uncertainty-bearing is not the sole determinant of profit. There are also other causes of profit in addition to uncertainty bearing, such as co-ordination, organization, innovations, etc.

(iii) Causes of scarcity: As per this theory, scarcity of entrepreneurs arises in the country when people are not ready to take/bear uncertainty. In reality, scarcity of entrepreneurs arises due to the lack of capital, technical know how, peace and security, etc. 

(iv) Monopoly gain: A monopolist may earn abnormal profit without any uncertainty. Therefore, profit may also arise due to monopoly power rather than uncertainty.

  PART: B MACRO-ECONOMICS

UNIT: 7 BASIC CONCEPTS
Meaning of macroeconomics

English term 'macro' was derived from Greek term 'makros'. Its meaning is 'large' or 'big'. Therefore, macroeconomics studies an economy as a whole. In other words, macroeconomics studies macro or larger parts of an economy like national income, unemployment level, aggregate demand, etc.

Macroeconomics is also called 'income theory' because it studies how the level of income and employment is determined in the economy. It shows the relationship between macroeconomic variables without 'ceteris paribus' assumption. It mainly deals with the determination of equilibrium price and output in all markets simultaneously. Here, all markets are assumed interrelated to each others. Therefore, macroeconomic analysis is also called 'general equilibrium analysis'.

British economist J.M. Keynes (1883-1946) is the inventor of modern macroeconomics. So, macroeconomics is also called 'Keynesian economics'. Macroeconomics became popular after the publication of J.M. Keynes' book entitled 'general theory of employment, interest, and money' published in 1936. Before the publication of this book, microeconomics had dominated economic analysis entirely. Great economic depression of 1930 caused the collapse of classical macroeconomics.

Macroeconomics is a policy science and more normative. Different economists have defined macroeconomics differently. According to Edwin Mansfield, "macroeconomics deals with behaviour of economic aggregate, such as gross national product and the level of employment".

According to MC Connel "here, we study forest, not the trees. It gives us a bird's eye view of the economy'.

Closed and Open Economy

A closed economy is one in which a country does not have economic relationship with other countries. On the other hand, open economy is one in which the country has economic relationship with other countries.

In closed economy, GDP = C + I + G

In open economy, GDP = C + I + G + (X - M)
Where, GDP = Gross domestic product

                  C = Private consumption expenditure

                   I = Gross domestic private investment

                  G = Government expenditure on goods and services

                  X = Export

               M = Import

               X – M = Net export

	Basis
	Closed Economy
	Open Economy

	1.Economic relation
	Closed economy has no economic relation with rest of the world.
	Open economy has economic relation with rest of the world.

	2.Import and Export
	Closed economy does not import and export goods and services.
	Open economy imports and exports goods and services.

	3.Borrowing 
and Lending
	Closed economy does not borrow and lend the resources.
	Open economy borrows and lends the resources

	4.Foreign aid
	Closed economy does not receive foreign aid.
	Open economy receives foreign aid.

	5.Movement 

of workers
	Workers of closed economy do not move to rest of the world.
	Workers of open economy move to rest of the world.

	6.Remittance
	Closed economy does not receive workers’ remittance from abroad.
	Open economy receives workers’ remittance from abroad

	7.Realistic 

and Theoretical
	There is no closed economy in the world. That is, closed economy is not found in real world.
	All the economies of the world are open economies. That is, open economy is realistic. It is found in real world.

	8.Equality of GDP and GNP
	In closed economy, GDP is equal to GNP
	In open economy, GDP is not equal to GNP


Macro-economic Variables
i. Gross Domestic Product (GDP): Gross domestic product at market price is the monetary or market value of the final goods and services produced within the domestic territory of a country during a year. In order to calculate the value of gross domestic product at market price, quantities of all final goods and services are multiplied by their respective market prices.
         Mathematically, 

     GDPmp = ∑ (P × Q)

         Where, 

                 GDPmp = Gross domestic product at market price

                           P = Market price

                                            Q = Quantity of final goods and services

Gross Domestic Product includes following 3 types of final goods and services

(a) Consumer goods and services,

(b) Capital goods, and

(c) Goods and services produced by government.

ii. Money Supply (M): Supply of money is the total amount of money in a country at a point of time. It includes currency held by public, demand deposit and time deposit.
M1 = C + DD

 M2 = C + DD + TD

Where, M1 = Narrow money supply

             M2 = Broad money supply

             C = Currency held by public

             DD = Demand deposit

            TD = Time deposit

iii. Inflation: Inflation refers to the process rising general price level. Value of money relates inversely with the inflation. That is, higher the inflation, lower the value of money and vice versa.

Based on speed, inflation can be classified into 4 forms. They are as follows:

(i) creeping inflation (below 5%), (ii) walking inflation (5% to 10%), (iii) running inflation (10% to 40%), and (iv) galloping/hyper inflation (above 40%).

Based on government reaction, Inflation can be divided into two groups, namely (i) open inflation and (ii) suppressed inflation.

iv. Unemployment: Unemployment is defined as a situation where someone of working age is willing to work, but he/she is not able to get a job. Unemployment is measured as the percentage of the total labor force. It can bring serous problems both for those who are unemployed and for the country. So, unemployment is the major macroeconomic issue for policy makers. Unemployment may be either ‘voluntary’ or ' involuntary’.
iii. Balance of Payment (BOP): The balance of payment (BOP) of a country is a systematic record of its receipts and payments in international transactions in a given year. Each transaction is entered on the credit and debit sides of the balance sheet. According to Benham, “balance of payment of a country is a record of its monetary transaction over a period with rest of the world”.

UNIT: 8 NATIONAL INCOME ACCOUNTING
Meaning

National Income (NI) refers to the total income of the nation in a particular period of time usually one year. In real term, National Income is the total amount of final goods and services produced annually in a country. In monetary terms, National Income is the monetary value of all final goods and services produced annually in a country.

Different economists have defined National Income differently. Marshall, Pigou, and Fisher have given traditional definitions of National Income. According to Marshall, “the labour and capital of a country acting on its natural resources produce annually a certain net aggregate of commodities, material and immaterial, including services of all kinds… This is the true net annual income or revenue of a country or national dividend”. The main features of Marshall’s definition are as follows:

(i) National Income includes all types of goods and services whether they come to the market or not.

(ii) The word ‘Net’ indicates that depreciation should be deducted from National Income.

According to Pigou, “national income is that part of objective income of the community, including of course, income derived from abroad, which can be measured in money”. The main features of Pigou’s definition are as follows:

(i) Only those goods and services should be included in National Income, which are exchanged for money.

(ii)  Income derived from abroad is to be included in National Income.

(iii)  National income includes only those incomes, which can be measured in terms of money.

In this way, Marshall and Pigou have adopted production as the basis of National Income.

Fisher has adopted consumption instead of production as the basis of National Income. According to Fisher, “the national dividend or income consists solely of services as received by ultimate consumers, whether from their material or their human environment”. The main features of Fisher’s definition are as follows:

(i) It is near to the concept of economic welfare.

(ii) Only net consumption of a commodity is to be included in National Income.

Simon Kuznet has given modern definition of National Income as “national income is the net output of commodities and services flowing during the year from the country’s productive system in the hand of the ultimate consumers”. Simon Kuznet’s definition of National Income is regarded as modern because it includes the goods and services only after the completion of buying and selling process.

Various/Different Concepts of National Income

The main concepts of National Income are as follows:

(i) Gross Domestic Product at Market Price (GDPmp)

Gross Domestic Product at Market Price is the monetary or market value of the final goods and services produced within the domestic territory of a country during a year. In order to calculate the value of gross domestic product at market price, quantities of all final goods and services are multiplied by their respective market prices.

      Mathematically, 

                      GDPmp = ∑ (P × Q)

                    Where, 

                            GDPmp = Gross domestic product at market price

                                     P = Market price

                                                      Q = Quantity of final goods and services

Gross Domestic Product includes following 3 types of final goods and services

(a) Consumer goods and services,

(b) Capital goods, and

(c) Goods and Services produced by government.

(ii) Gross National Product at Market Price (GNPmp)

Gross national product at market price is monetary value of all final goods and services produced annually in a country plus net factors income from abroad. In other words, gross national product at market price refers to GDPmp plus net factors income from abroad.

                  Mathematically, 

                                  GNPmp = GDPmp + Net factors income from abroad (NFIA)

Note: Net Factors Income from Abroad = Income received by the nationals of a country from abroad – Income received by the foreigners from the country. 

Distinction/Difference between GDP and GNP

	GDPmp
	GNPmp

	(i) GDPmp is the monetary value of final goods and services produced in a country during a year.

    Mathematically, 

        GDPmp = ∑ (P X Q)

        Or, GDPmp = GNPmp - NFIA


	(i) GNPmp is the GDPmp plus net factors income from abroad (NFIA).

    Mathematically, 

             GNPmp = GDPmp + NFIA



	(ii)  It does not include incomes obtained by nationals from abroad, i.e. it does not cross the political boundary.
	(ii) It includes income obtained by              nationals from abroad, i.e. it crosses the political boundary.



	(iii)  It includes income received by foreigners from the country.


	(iii) It does not include income received by                  foreigners from the country.



	(ii) (iv)   If  NFIA = +Ve then GDPmp < GNPmp

	(iv)   If NFIA = +Ve then GNPmp > GDPmp

	(v)    If NFIA = - Ve  then GDPmp > GNPmp
	(v)  If NFIA = - Ve  then  GNPmp <      GDPmp



(iii) Net National Product at Market Price (NNPmp)

Net National Product at Market Price is the Gross National Product at Market Price minus depreciation. The term ‘Net’ refers to the exclusion of depreciation.

                  Mathematically, 

                  NNPmp = GNPmp – Depreciation

                 Note: Depreciation is also called Capital Consumption Allowance (CCA)
(iv) Net National Product at Factor Cost (NNPfc)

Net National Product at Factor Cost refers to Net National Product at Market Price minus Net Indirect Tax.

                  Mathematically, 

                  NNPfc = NNPmp – Net Indirect Tax

 Since Net Indirect Tax = Indirect Tax – Subsidy,  NNPfc = NNPmp – (Indirect tax –Subsidy)

                                                                                            = NNPmp – Indirect tax + Subsidy

Note: Indirect tax refers to sales tax, excise duty, VAT, custom duty, etc. Subsidy refers to money aid given to the producers with a view to lower the price of certain products in the market. Generally, NNPfc is called National Income (NI).
(v) Personal Income (PI)

Personal Income is the total income received by the individuals/households of a country from all possible sources before direct taxes during a year. Transfer payments, such as, unemployment allowance, old age allowance, widow allowance, etc. are included in Personal Income.

                               Mathematically, 

                             Personal Income = National Income – Corporate income taxes – Undistributed corporate profit – Social securities + Transfer payments.

(vi) Disposable Income (DI or Yd)
Disposable Income is the personal income minus direct taxes.

       Mathematically,

                                       Disposable Income (Yd) = Personal income – Direct tax (income tax)

(vii) Per Capita Income (PCI)
Per Capita Income is the National Income (NI) divided by total number of population ( N ). That is, it is the average income of people living in a country.

                                     Mathematically,

                                                       Per Capita Income ( PCI ) =   NI / N
Nominal GDP, Real GDP and GDP Deflator 

Nominal GDP (NGDP): Nominal GDP is defined as the GDP measured at market price of current year. It is calculated by multiplying all the final goods and services produced during a certain period of time by the respective price level of current year.
        Mathematically,

                                NGDP = Ʃ (P1×Q1)
                               Where, P1 = Market price of current year

                                            Q1= Quantity of final goods and services

Real GDP (RGDP): Real GDP is defined as the GDP measured at market price of base year. It is calculated by multiplying all the final goods and services produced during a certain period of time by the respective price level of base year.

     Mathematically,
                          RGDP = Ʃ (P0×Q1)

                          Where, P0 = Market price of base year

                                      Q1 = Quantity of final goods and services

Distinction/Difference between Nominal GDP and Real GDP

	Basis of Difference
	Nominal GDP (NGDP)
	Real GDP (RGDP)


	i. Meaning
	Nominal GDP is defined as the GDP measured at market price of current year.
	Real GDP is defined as the GDP measured at market price of base year.

	ii. Calculation
	NGDP = Ʃ (P1×Q1)
	RGDP = Ʃ (P0×Q1

	iii. Expressed in
	Market prices of current year
	Market prices of base year

	iv. Value
	Generally higher, i. e. NGDP ˃ RGDP
	Generally lower, i. e. RGDP ˂ NGDP

	v. Indicator
	Not good indicator of economic growth
	Good indicator of economic growth

	vi. Inclusion/Exclusion of inflation/deflation
	It includes inflation/deflation
	It excludes inflation/deflation


GDP deflator: GDP deflator is defined as the price index, which measures the change in overall prices of final goods and services during a certain period of time. It is an indicator of the change in average prices of final goods and services during a specified period of time. GDP deflator is calculated by dividing nominal GDP by real GDP and multiplying it by 100.      
                                        Nominal GDP
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         GDP Deflator =                                × 100     

                                          Real GDP            
Various goods and services are produced annually in a country. The units of measurement of the goods and services are different. For example: rice is measured in kilograms, milk in liters, cloth in meters, and so on. To solve this problem, all goods and services are converted into monetary value by multiplying their respective prices.

Prices of goods and services often change from time to time and then value of money changes along with the change in price level. When price level increases, GDP also increases although production level of final goods and services remains constant. On the other hand, the production level of final goods and services remaining constant, when price level decreases, GDP also decreases. This is one of the difficulties/problems in the measurement of GDP because actual value of GDP cannot be obtained due to this reason. For example:
	Items
	Base year (2005)
	Current year (2017)

	
	P0
	Q0
	P0 × Q0
	P1
	Q1
	P1 × Q1

	1. Duster
	20
	10
	200
	30
	10
	300

	2. Marker pen
	30
	5
	150
	40
	5
	200

	3. White board
	5,000
	12
	6,000
	6,000
	12
	72,000

	Total
	Ʃ (P0 × Q0) = Rs. 60,350
	
	
	Ʃ (P1 × Q1) = Rs. 72,500


As per given table, monetary value of duster, marker pen and white board increases though production level remains constant
To get rid of this type of problem, GDP is calculated at constant price (market price of base year). Firstly, GDP is calculated at current price (market price of current year) and then it is converted into at constant price by using following formula:
                                             Nominal GDP
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                             GDP Deflator                                    

	2014
	Rs. 1965 billion
	266
	                     Rs. 739 billion

	2015
	Rs. 2130 billion
	279
	                     Rs. 764 billion

	2016
	Rs. 2247 billion
	293
	                     Rs. 767 billion

	2017
	Rs. 2599 billion
	315
	                     Rs. 825 billion


According to given table, nominal GDP was Rs. 1965 billion in 2014, which increased to Rs. 2130 billion in 2015. Real GDP was Rs. 739 billion in 2014, which increased to Rs. 764 billion in 2015. Similarly, nominal GDP was Rs. 2247 billion in 2016, which increased to Rs. 2599 billion in 2017.  Real GDP was also Rs. 767 billion in 2016, which increased to Rs. 825 billion in 2017.

Circular Flow of Income and Expenditure

In every economy, there are household sector, business sector, government sector, and foreign/external sector. For simplicity, we take only household and business sectors to illustrate circular flow of income and expenditure. The function of household is to purchase and consume goods and services for the satisfaction of their wants and the function of business sector is to produce goods and services for the satisfaction of wants of household sector.

Assumptions

i. All factors of production (land, labor, capital and organization) are owned by household sector.

ii. All factors of production are fully employed.

iii. All production of goods and services take place in the business sector.

iv. Income of household sector is entirely spent.
The circular flow of income and expenditure is illustrated in the figure given below:
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                 Money income (factors payments, i.e. rent, wages, interest and profit)       




                                     Land, Labor, Capital and Organization


 
   
Goods and Services



Expenditure on Goods and Services


               Fig. Circular flow of income and expenditure 

According to given figure, household sector receives money from business sector for offering factors of production. Household sector spends the income in order to obtain goods and services produced by business sector. The expenditure of household sector becomes the income of business sector. Similarly, the expenditure of business sector becomes the income of household sector.
Methods to Measure/Calculate National Income

Q.What are the Methods to Measure/Calculate National Income? Which Method is suitable for  Under-developed Countries like Nepal?

Ans:  There are 3 methods to measure/calculate National Income. They are as follows:

A. Product Method: Product Method measures/calculates National Income at the phase of production. Under this method, there are two approaches. They are as follows:

Final Product Approach: According to this approach, National Income is estimated by finding the market value of final goods and services produced annually in a country. 
  Mathematically,

                    GDPmp = ∑ (P x Q)  
                          Where, 

                                    P = Market price of final goods and services 

                                   Q = Quantity of final Goods and Services

                                    GNPmp = GDPmp + Net Factors Income from Abroad NFIA)

                                    NNPmp = GNPmp ( Depreciation                                                        

                                    NNPfc or NI = NNPmp ( Indirect Taxes + Subsidy

Value Added Approach: According to this approach, National Income is estimated by summing total value added by various sectors. The calculation of value added is illustrated in the table given below:
Table: Calculation of value added
	Producer  (A)
	Stage of Production  (B)
	Value of Output  (C)
	Cost of Intermediate Goods    (D)
	Actual Value Added

(E) = (C) ( (D)

	Farmer
	Wheat
	500
	(
	500

	Miller
	Flour
	700
	500
	200

	Baker
	Bread
	1000
	700
	300

	Total
	2200
	1200
	1000


As per given table, farmer produces wheat of Rs.500 by using own fertilizer, seed, land, labor, capital, and organization and then sells to miller. Miller converts wheat into flour and then sells to baker at Rs.700. Baker converts flour into bread and then obtains Rs.1000 by selling it to consumers.

Here, 

          Value added by farmer  = 500 – 0 = 500

          Value added by miller  = 700 – 500 = 200

          Value added by baker  = 1000 – 700 = 300

          Total value added is Rs.1000, which is added in National Income.
(B) Income Method: According to this method, National Income is estimated from the side of factors income. In this method, the incomes received by the residents of a country are added to obtain National Income.

National Income (NI) = Rent + Wages and Salaries + Interest + Dividend + Undistributed corporate profit + Mixed income + Net factors income from abroad.

(C) Expenditure Method: This method measures National Income from the side of expenditure. According to this method, National Income includes following items:

(i) Private consumption expenditure (C),

(ii) Gross domestic private investment (I),

(iii) Government expenditure on goods and services (G), and

(iv)  Net income from abroad ( X ( M ), i.e. Export – Import
  Mathematically,

                              Y = C + I + G + ( X ( M ), i.e. GDPmp = C + I + G + ( X – M )

                              Where, 

                                       Y = National income       

                                       GNPmp  = GDPmp + Net factors income from abroad(NFIA)

                                       NNPmp  = GNPmp ( Depreciation

                                       NNPfc or NI = NNPmp ( Indirect taxes + Subsidy

The choice of method actually depends on the stage of economic development of a country and availability of necessary data/statistics/information. In advanced/developed countries, data/statistics/information related to production, income and expenditure is available adequately. So, all methods may be suitable for developed countries like Japan. But, data/statistics/information of income and expenditure is not available adequately in least developed countries. Most of the producers don’t maintain proper account. Comparatively, statistics of production are available more in least developed countries. So, product method is more suitable for least developed countries like Nepal. 
Difficulties in the Measurement of National Income

Difficulties in the measurement of National Income are as follows:

(i) Definition of nation: Every nation has own political boundary. But, National Income also includes incomes generated by nationals in foreign countries. In this way, the concept of National Income crosses the political boundary.

(ii)  Double counting: Double counting is also one of the major difficulties in the measurement of National Income. A commodity may be counted more than one time. Consequently, National Income is overestimated. To solve this problem, only the value of final goods and services should be considered. But, there may be difficulty in distinguishing final and intermediate goods.

(iii) Illegal income: Income earned through illegal activities, such as gambling, illicit production of wine, smuggling, black marketing, adulteration, bribery, etc. is not included in National Income. By excluding such income, the National Income is underestimated.

(iv) Depreciation valuation: Depreciation is deducted from Gross National Product to get Net National Product. But, depreciation calculation involves statistical difficulties like the age calculation of capital goods and year-to-year change in prices of capital goods.

(v) Change in price level: National Income is measured in terms of money. If price level changes, National Income also changes even without any change in output. Suppose, output remains constant, National Income also increases with the increase in price level and vice versa.

(vi) Transfer payments: The unemployment allowance, pension, interest on public debt, etc. are called transfer payments. The transfer payments must not be included in National Income. But, transfer payments are also the income of people. For this purpose, it is better to take into account only the disposable income.

(vii) Public services: Another problem is whether the public services like general administration, police and army service, etc. should be included in National Income or not. Some countries include them in National Income as the final services whereas some countries do not include them in National Income.

UNIT: 9 MONEY

The term 'money' was derived from the Latin word 'moneta' which means Roman goddess 'Juno'. The coins were minted in the temple of the goddess 'Juno'. At the initial phase of human civilization, people introduced barter system, which were goods to goods. However, barter system became extremely complex. Consequently, people invented money.  In the first stage, people started to suppose animals and goods as the money. In the second stage, valuable metals, such as gold, silver, etc. were used as money. In the third stage, people started to make coins by using metals with proper signal for different value. In the fourth stage, paper money is developed.

Definition of Money

Money is the means of medium of exchange. It is used to measure the value of all kinds of goods and services. There is no universally accepted definition of money. Different economists have defined money differently. According to F.A. Walker, " money is that money does". R.P. Kent defines money as, “money is anything that is commonly used and generally accepted as a medium of exchange or as a standard of value".
In the words of Hawtrey, " money has two sides: first, it is a unit of account; second, it is legal tender".

Functions of Money

The major functions of money are as follows:

(i) Money as a medium of exchange: The most important function of money is to serve as a medium of exchange. As a medium of exchange, money removes all the difficulties of barter system. An individual can sell his/her good or service in the market for money and then he/ she purchases whatever he/she needs with the money.

(ii) Money as a store of value: Money serves as a store of value. That is, it enables a person to keep a part of his/ her properties in the form of liquid asset (cash form). Liquid assets are those, which can be used for any purpose at any time as per one's wish. Nowadays, most of the people keep currency notes in their pocket or at home. An office may keep cash in the form of petty cash for small payment.

(iii) Money as a standard measure of value: Money is a standard measure of value of goods and services, i.e. money serves as a unit of account. Therefore, money helps to compare the relative value of goods or services, which are dissimilar and entirely different from one another.

(iv) Money as a standard of deferred payment: Money also serves as a standard of deferred payment (future payment). A debtor receives loan from the creditor and he/she will pay in future with interest in the form of money. In the market economy, especially in developed countries, most of the consumer goods, such as radio, T.V., refrigerator, etc. are purchased by consumers/customers in installment credit.

(v) Money as a means of transferring value: One can get money by selling own movable and immovable properties and then he can buy other properties with the help of acquired money. Money serves for both the time-transfer and place-transfer. It means money helps to transfer the value from one place to another, from one person to another, and one time to another.

(vi) Other functions: Money facilitates the distribution of national income between the different factors of production. It also helps in bringing justice in distribution of national income. Money serves as a basis of the vast structure of modern credit system. Banks create credit based on their cash reserves. All credits are based on money and are always expressed in terms of money.

Role of Money

There is no doubt that money facilitates, stimulates, promotes and motivates all economic activities relating to production, distribution, consumption, and exchange. In fact, modern world cannot move without money. The role of money can be explained under following headings:

(i) Production: Money facilitates production by stimulating saving and investment. It helps in capital formation and in mobilizing capital. The accumulated capital is mobilized in the production of various goods and services through money. Consequently, entrepreneurs are able to maximize the level of profit. Money also leads to division of labour, which plays vital role in the process of production.

(ii) Distribution: Money plays important role in the field of distribution of national income. Wage, rent, interest, and profit are determined in terms of money. Money enables to distribute national income in favor of poor people, which is useful in reducing inequality of income and wealth distribution.

(iii) Consumption: Money enables a consumer to maximize his/her satisfaction. People use money to buy various goods and services and then purchased goods and services are used to satisfy the wants. Generally, utility derived from the consumption of goods and services is measured in terms of money. Consumers partly consume and partly save the current income in the form of money.

(iv) Exchange: Money facilitates exchange and helps in the development of trade and commerce, both national and international. Money possesses the purchasing power and serves as medium of exchange. It means money facilitates transaction.
(v) Government/Public finance: Government receives revenue, such as tax, price, fee, etc. in the form of money. The revenue is spent in various sectors like agriculture, industry, trade, infrastructure, etc. Consequently, pace of economic development accelerates. The account of income and expenditure of government is also kept in terms of money.

Money has important role in all types of economic system. It is said that money is a master in a capitalistic economy and it is a servant in a socialistic economy. Money also plays significant role in a mixed economy.

Types of Money






          




I. Commodity money: At first, various commodities were used as the medium of exchange like leather, bones, stone, fishhook, etc. Commodity money lacked basic features of a good money. So, people discarded commodity money.

II. Metallic money: Metallic money is made by metals. There are 2 types of metallic money. They are as follows:

      a. Standard or full bodied coins: This type of metallic money is made by valuable metals   like gold, silver, etc. Face value of standard coins is equal to intrinsic value.

b. Token or subsidiary coins: This type of metallic money is made by inferior metals like copper, aluminium, etc. Face value of token coins is more than intrinsic value.

III. Paper Money: Government or Central bank of a country issues paper money. Face value of paper money is more than intrinsic value. It has unlimited legal tender. There are 2 type of paper money. They are as follows:

a. Representative or convertible paper money: 100 percent reserve of gold or silver is kept in order to issue representative paper money. This type of paper money can be converted into gold or silver.

b. Fiat or inconvertible paper money: 100 percent reserve of gold or silver is not kept in order to issue fiat paper money. This type of paper money cannot be converted into gold or silver.

IV. Bank Money: The cheque drawn on demand deposit (or current a/c) is called bank money. Nowadays, other medium of exchange like bank draft, traveller's cheque, credit card, etc. are also included in bank money. Bank money is also called optional money.

Features of Good Money

(i) Money should be acceptable everywhere

(ii) Money should be durable

(iii) Money should be divisible

(iv) Money should be portable

(v) Money should be recognizable

Value of Money

Value of money refers to the purchasing power of money. Value of money relates inversely with general price level, i.e. when general price level rises, value of money declines and vice versa. According to Crowther," value of money is what it will buy”. It indicates that value of money is the quantity of goods or services, which is purchased with a unit of money. It is the reciprocal of general price level.

Mathematically,

              VM= 1/P

          Where, VM = Value of money

                          P = General price level

                       1/P = Reciprocal of general price level

	P
	VM = 1/P

	Rs. 4
	1/4 = 0.25

	Rs. 8 ↑
	1/8 = 0.125 ↓

	Rs. 2 ↓
	1/2 = 0.50 ↑


Quantity Theory of Money (QTM)

American economist Irving Fisher wrote a book entitled 'The Purchasing Power of Money' in 1911. In this book, Fisher has given quantity theory of money.

According to this theory, "other things remaining unchanged, as the quantity of money in circulation increases, the price level also increases in direct proportion and the value of money decreases and vice versa".

Assumptions:

 (i) Price level is passive variable.

 (ii) Money is used only for medium of exchange.

 (iii) There is full employment of resources in long run.

 (iv) Total volume of transacted goods and services and velocity of money remain constant in long run.
This theory can be illustrated with the help of equation and figure given below:

MV = PT…………..(i)

or, P = MV/T………..(ii)

Where, M = Money supply
             V = Velocity of money

             P = General price level

             T = Total volume of transacted goods and services

             PT = Nominal Gross Domestic Product (NGDP)
Fisher further extended the equation as: 

     P = (MV + M'V')/T………….(iii)

Where,

M' = Volume of bank money

V' = Velocity of bank money

        Let, V = 2, V' = 3, and T = 400
	M
	M'
	P = (MV + M'V')/T
	VM = 1/P



	500
	200
	(500×2 + 200×3)/400 = 4


	 1/4 = 0.25

	1000 ↑
	400 ↑
	(1000×2+400×3)/400 = 8 ↑
	 1/8 = 0.125 ↓



	250 ↓
	100 ↓
	(250×2 + 100×3)/400 = 2 ↓
	 1/2 = 0.50 ↑



                                 Fig. Quantity theory of money

According to figure(A), when money supply is increased by double from M to M1, general price level also increases by double from P to P1. On the other hand, when money supply is decreased by half from M to M2, general price level also decreases by half from P to P2.

According to figure(B), when money supply is increased by double from M to M1, value of money decreases by half from 1/P to 1/P1, On the other hand, when money supply is decreased by half from M to M2, value of money increases by double from 1/P to 1/P2.

Criticisms

(i) Interdependence of variables: According to this theory, M, V, and T are independent. In reality, these variables are interdependent with each other.

(ii) Unrealistic assumption of long period and full employment: This theory is applicable only in long run. But, actual economic problems are short run in nature. So, this theory cannot solve short run economic problems. This theory assumes full employment of resources. But, it is unrealistic.

(iii) Static theory: This theory assumes that V, V', and T remains constant. In this sense, it is static theory.

(iv) Fails to explain trade cycle: M, V, P, etc. are related to trade cycle. Trade cycle is one of the major features of capitalistic economy. This theory does not explain trade cycle.

(v) No direct and proportional relationship between M and P: This theory claims that there is direct and proportional relationship between M and P. In reality, it is not found always.

(vi) One sided theory: This theory assumes that demand for money remains constant, i.e. only supply of money changes. In this sense, it is one-sided theory.

 (vii) Only medium of exchange function of money: This theory assumes that money is used only for medium of exchange, i. e. it ignores other function of money like store of value, unit of account, etc.

Inflation and Deflation(Meaning, Causes and Consequences)
Inflation: Generally, Inflation refers to increase in general price level, which reduces the value of money or purchasing power of money. According to Crowther, " inflation is a state in which the value of money is falling, i.e. the prices are rising". Coulborn defines inflation as " too much money chasing too few goods".

According to J.M. Keynes, inflation is the result of the excess of aggregate demand over the aggregate supply of goods and services. The true Inflation starts only after the full employment of resources. Classical economists claimed that increase in money supply raises the price level directly and proportionally. 

The former leads to demand pull Inflation and later leads to cost push Inflation.

Inflation means a substantial and rapid increase in the general price level. It declines the purchasing power of money. Different economists have defined inflation differently. According to Crowther, “inflation is a state in which the value of money is falling, i.e. the prices are rising”.
In the words of Gardner Ackley, “inflation is a persistent and appreciable rise in the general level or average of prices”.

Coulborn defines inflation as “ too much money chasing too few goods”.

According to J.M. Keynes, inflation is the result of excess of aggregate demand over the available aggregate supply and true inflation starts only after full employment.

Features of Inflation

The main features of inflation are as follows:

(i) Inflation is a dynamic process as observed over a long period of time.

(ii) Inflation is monetary phenomenon. It is generally caused by excess of money supply over its demand.

(iii) Pure inflation starts only after full employment.

(iv) Inflation may be demand-pull or cost-push.

Types of Inflation

There are different types of inflation. They are as follows:
On the basis of speed

(i) Creeping Inflation

It is the mildest form of inflation, which is conducive to economic development. Under creeping inflation, prices rise about 2 percent annually.

(ii) Walking Inflation

Walking inflation occurs when prices rise faster than in creeping inflation. Under walking inflation, prices rise approximately by 5 percent annually.

(iii) Running Inflation

Under running inflation, prices rise faster than in walking inflation. Prices rise about 10 percent annually under this type of inflation.

(iv) Galloping or Hyper Inflation

Under galloping or hyper inflation, prices rise rapidly and there is no upper limit to the price rise. Keynes considered this type of inflation as the true inflation, which occurs after the level of full employment. The classical examples of hyper inflation are: (a) great inflation of Germany after I world war and (b) great inflation of China after II world war.
On the basis of demand and cost

(i) Demand-pull inflation 

If inflation arises due to the excess of demand for goods and services over supply, it is called demand-pull inflation. When private investment expenditure and government expenditure increase, aggregate demand for goods and services also increases and then inflation arises.

(ii) Cost push inflation

If inflation arises due to the increase in cost of production, it is called cost-push inflation. When prices of factors of production (rent, wage, interest, and profit) and prices of raw materials increase, cost of production also increases and then prices of goods and services go up.

On the basis of government reaction

(i) Open inflation

If the government takes no steps to check/control the rise in price, it is called open inflation. For example: hyper inflation in Germany after I world war.

(ii) Suppressed inflation

If the government takes steps to check/control rise in price, it is called suppressed inflation. Government checks inflation through direct price control and rationing. Once these measures are withdrawn, the demand for goods and services increases and then the suppressed inflation becomes open inflation.
Causes of Inflation

The major causes of inflation are as follows:

(i) Increase in money supply

An increase in money supply leads to an increase in money income. Consequently, demand for goods and services increases, which in turn raises the price level. That is, demand pull inflation arises due to the increase in money supply. The supply of money increases when (a) government finances deficit budget by issuing more currency notes and (b) banks expand credit.

(ii) Increase in government expenditure

When government expenditure increases, demand for goods and services also increases, which leads to demand pull inflation.

(iii) Increase in population

A rapid growth of population raises the level of aggregate demand in the economy. It is because high population is responsible to increase consumption, investment and government expenditure. As a result, demand-pull inflation appears in the economy.

(iv) Reduction of tax

When the government reduces the income taxes, it increases the disposable income of people. Consequently, demand for goods and services rises and then demand-pull inflation generates in the economy.

(v) Increase in private expenditure

When both consumption and investment expenditures of private sector increase, aggregate demand for goods and services also increases in the economy. It generates demand-pull inflation. During the period of business expectations, the businessmen start investing more and more funds in new enterprises. It increases demand for factors of production and raw materials and then prices of the factors of production (rent, wage, interest, and profit) and prices of the raw materials rise. Consequently, cost-push inflation arises in the economy.

(vi) Natural calamities

Natural calamities are also responsible in generating inflation in the economy by reducing production. Floods, drought, earthquake, etc. adversely affect the supply of products and raise their prices.

(vii) War

During the period of war, economic resources are diverted in the production of war materials. This reduces the supply of goods and services for civilian consumption. As a result, inflation generates.

Effects/Consequences of Inflation

Inflation affects various sectors of a country, such as economic sector, social sector, political sector, etc. Its various effects are as follows:

(i) Saving

Inflation adversely affects saving and capital formation. When prices increase, the purchasing power of money falls. It means more money is needed to buy the same quantity of goods and services. It reduces the saving. Inflation also discourages the inflow of foreign capital into the country.

(ii) Volume of production

Inflation may reduce the volume of production because it reduces the capital accumulation and discourages the entrepreneurs from taking business risk.

(iii) Hoarding and moral effect

Inflation encourages businessmen to hoard a larger quantity of goods. It is because when prices rise, hoarding of larger quantity of goods becomes profitable. It encourages black marketing by creating artificial shortage of goods. In order to increase the profit margin, suppliers reduce the quality of their products through adulteration. In this way, inflation adversely affects business morality and ethics.
(iv) Debtors and creditors

During inflation, debtors are the gainers and the creditors are the loser. The debtors gain because they had borrowed when the purchasing power of money was high and now return the loan when the purchasing power of money is low due to inflation. On the other hand, creditors lose because they get back their money during low purchasing power.
(v) Fixed income groups

Fixed income groups suffer during inflation. Persons, who live on past saving, pensioners, interest, and rent earners suffer during the period of inflation because their income remains constant.

(vi) Business community

Business community (producers, traders, entrepreneurs, speculators, etc.) gains during inflation. They earn windfall profit because prices rise at a faster rate than the cost of production and prices of their inventories go up.

(vii) Social effects

Inflation leads to redistribution of income and wealth in favour of the rich people. This widens the gap between the haves and the haves not and creates conflict and tensions in the society. Thus, inflation is socially unjust.

(viii) Political effect

Inflation encourages politicians to corrupt and it also weakens political discipline. During the time of inflation, people and opposition parties raise the voice against the government. After I world war (1920 A.D.), hyperinflation appeared/arose in Germany, which made Hitler a dictator. In this way, inflation affects political system adversely.

(ix) Investors

If the investors invest their money in equities, they gain because inflation raises the profit. If investors invest their money in debentures and fixed income bearing securities, bonds, etc., they lose because income remains fixed.

(x) Farmers

Farmers generally gain during inflation because the prices of the farm products increase faster than cost of production.

Deflation: Deflation is the opposite of inflation, i.e. deflation is the phenomenon of falling price and rising the value of money. According to Crowther, "deflation is that state of the economy where the value of money is rising or the prices are falling".
The major reasons of deflation are (i) excess of supply of goods and services over demand (Qs (Qd) and (ii) to decrease in the cost of production (rent (, wage (, interest (, profit (, and price of raw materials ( ).

Deflation is worse than Inflation. It may discourage producers and investors. Therefore, deflation should be controlled as soon as possible by using various measures like reduction in tax, redistribution of income in favor of poor, repayment of public debt, credit expansion, etc.
Causes of Deflation

The major causes of Deflation are as follows:

(i) Decrease in money supply

A decrease in money supply leads to a decrease in money income. Consequently, demand for goods and services decreases, which in turn reduces the price level. The supply of money decreases due to surplus budget of government and contractionary credit policy of banks.
(ii) Decrease in government expenditure

When government expenditure decreases, demand for goods and services also decreases, which leads to deflation.

(iii) Decrease in population

Decrease in population reduces the aggregate demand for goods and services in the economy. It is because low population is responsible to decrease consumption. As a result, deflation appears in the economy.
(iv) Increase in tax
When the government increases the income taxes, disposable income of people declines. Consequently, demand for goods and services falls and then deflation generates in the economy.

(v) Decrease in private expenditure

When both consumption and investment expenditures of private sector decrease, aggregate demand for goods and services also decreases in the economy. It generates deflation. 
Consequences/Effects of Deflation

 (i) Saving

When price level declines, purchasing power of money rises. It means less money is needed to buy the same quantity of goods and services. As a result, saving rises. 

(ii) Debtors and creditors

During deflation, debtors are the loser and the creditors are the gainer. The debtors lose because they had borrowed when the purchasing power of money was low and now return the loan when the purchasing power of money is high due to deflation. On the other hand, creditors gain because they get back their money during high purchasing power.

(iii) Fixed income groups

Fixed income groups are gainer during deflation. Persons, who live on past saving, pensioners, interest and rent earners gain during the period of deflation.
(iv) Business community

The business community (producers, traders, entrepreneurs, speculators, etc.) loses during deflation. 
(v) Investors

If the investors invest their money in equities, they lose because deflation reduces the profit. If investors invest their money in debentures and fixed income bearing securities, bonds, etc., they gain.
UNIT: 10 BANKING

The term ‘Bank’ was derived from Italian word ‘Banco’. So, the concept of bank was first developed in Italy. Even in ancient time, banking system was existed in an unorganized form. 

According to Crowther, there are 3 ancestors of bank, namely (i) merchants, (ii) money lender, and (iii) goldsmith. The modern joint stock banks were first established in England in 1833.

Generally, banks are institutions, which deal with the monetary activities. Banks play vital role in overall development of a country. Banks mobilize the capital.

Role of Banking  System in the Economy
Banking system has significant role in an economy, which is the financial wheel of economic activities. The role of banking system can be explained under following headings:

(i)Mobilization of saving:  People earn through various activities and they partly consume and partly save their income. People’s saving is invested in various sectors through banks. Banks provide attractive interest on saving and fixed deposits. Consequently, people are encouraged to save more. In this way, banks mobilize savings.

(ii)Monetization of economy: Only in monetized economy, monetary and fiscal policy can be implemented effectively. The extension of branches of banks to the rural and urban areas increases the banking habit of people and they keep their savings in banks. This leads to the monetization of rural as well as urban economy by removing barter system.

(iii)Promotion of employment:  Unemployment is one of the serious problems of the economy, which may generate social and political problems. The banks provide loans to businessmen, entrepreneurs, and farmers. Banks also make direct investment in various sectors. Consequently, employment opportunity increases in the economy.

(iv)Capital accumulation: Capital accumulation is sine qua non (essential condition) for the development of a country. Developing countries suffer from low capital formation. In this context, banks play significant role by collecting scattered capital. Banks help to accumulate a large amount of capital by underwriting shares, debentures, etc.
(v)Remittance of money: Banks remit money from one place to another place through draft, fax, mail-pay order, Telegraphic Transfer (TT), etc. Banks have facilitated transaction in distant places, which helps to develop and expand the domestic and international trade.

Classification of Banks 

Banks can be classified into following types:

(i)Central bank:  The central bank is highest monetary authority of a country. A central bank acts as the leader of money market and supervises, controls, and regulates the activities of commercial banks and other financial institutions. The central bank is non-profit making institution. Its main concern is to promote the general economic policy of the government.

(ii)Commercial bank: Commercial bank is a kind of bank that accepts deposits from individuals/institutions and provides loans to needy persons/entrepreneurs/enterprises. This type of bank, generally, provides short-term loan of small amount. Nowadays, commercial banks also provide long-term loan of large amount.
 (iii)Industrial development bank: The main aim of industrial bank is to develop industrial sector of the country. This type of bank provides long-term loan of huge amount and industrial consultancy for the establishment, development, and modernization of industries. It also purchases, sells and underwrites the shares and debenture of corporations/companies.
(iv)Agricultural development bank:  The main aim of agricultural bank is to develop agricultural sector of the country. This type of bank provides short-term loan to farmers in order to pay wages, to purchase fertilizer and equipments, etc.
(v)Rural development bank: Rural development bank provides banking service to rural people. Rural people deposit their savings in the rural development bank and get collective loan.

(vi)Exchange bank: This type of bank deals with foreign exchange/currency. The main aim of exchange bank is to help international trade. 

Functions of Central Bank

(i) Monopoly of note issue: Central bank has sole authority to issue note. Generally, central bank issues notes on the basis of proportional reserve system. According to this system, 50 percent gold or foreign exchange/currency and 50 percent coins or securities should be kept as the reserve to issue notes. It helps to maintain uniformity in money and controls the quantity of money. The uniformity in money ensures people’s confidence in notes. In Nepal, Nepal Rastra Bank (NRB) issues currency notes by keeping 100 percent reserve (foreign currency) . NRB also issues coins.

(ii) Government’s bank: Central bank is the government’s bank. Therefore, central bank accepts government’s deposit and collects government’s revenue, and remits government’s funds. Central bank also makes short term-loan and overdraft to government. NRB provides overdraft to Government of Nepal (GoN) for 180 days. It advises to the government regarding the fiscal policy, development planning, etc. It also provides information to government regarding economic situation of the country. Central bank raises public debt to the government.

(iii) Bankers’ bank: Central bank is bankers’ bank. Central bank has full authority to regulate, inspect, monitor, supervise, control and develop the banking system in the country. All commercial banks and other financial institutions should work under the guidance and direction of central bank. They have to deposit certain amount of total domestic currency deposits (Liability) in central bank, which is called Cash/Compulsory Reserve Ratio (CRR). Now, CRR for Commercial Banks is equal to 6.0 percent, 5.0 percent for Development Banks, and 4.0 percent for finance companies.

(iv)Control of foreign exchange/currency: Central bank has the sole authority for the regulation and control of foreign exchange/currency. But, central bank can provide this type of authority to commercials banks and other financial institutions to some extent. Now in Nepal, commercial banks and other financial institutes also do transaction of foreign currency and exchange rate of foreign currency is fixed by open market process in financial market. Nepal Rastra Bank (NRB) fixes the exchange rate for official use. 

(v) Lender of last resort: Central bank is the lender of last resort. Sometimes, commercial banks and other financial institutions have to face financial crisis. Central bank solves this type of problem by providing funds and consultancy. It means central bank provides loan to commercial banks and other financial institutions during need and critical condition.

(vi) Control of credit: Central bank controls the credit as per economic condition. For this, it adopts both direct and indirect instruments, such as cash reserve ratio (CRR), bank rate, open market operation, publicity, direct action, and fixation of margin. Generally, a central bank contracts credit during inflation and expands it during depression of economy.

(vii) Other functions: Besides these, central bank performs other functions as well. It works as clearing house agent. To strengthen banking institutions, it provides training to the banks’ personnel. It organizes various studies and research activities. It publishes various report, journals, and documents for the information of current economic situation, activities, and policies of the country. Central bank manages liquidity in the banking system. NRB as the central bank injects liquidity through Repo and Outright Purchase and mop up liquidity through Reverse Repo and Outright Sale.

Functions of Commercial Banks
(i) Accepting deposits: The major function of commercial banks is to accept deposits from customers (individuals, public, organizations, firms, companies, etc.). Commercial Banks accept deposits under the certain rules and regulations in the form of current, saving, and fixed deposits. Commercial Banks provide interest on saving and fixed deposits, but they do not provide interest on current account.

(ii) Providing loans: Another function of commercial banks is to provide loan to customers in various sectors and to needy persons. Banks provide loan in the form of overdraft, advances, discounting bills, and cash credit. The system of advancing loan is based on the mortgage/collateral. Commercial banks accept precious metal, such as gold, silver, etc. as well as other saleable assets as mortgage/collateral. Commercial banks can sell the mortgage if the debtors do not repay the loan according to given terms and condition of loan. Banks charges interest on loan, which is higher than deposit interest rate. Generally, commercial banks provide loan of small amount for short period. Nowadays, commercials banks also provide loans of large scale for medium and long term in Nepal.

(iii) Remittance of money:  Commercial Banks remit/ transfer money safely from one place to another place in various forms, such as bank draft, T.T., faxes message, mail-pay order, etc. It helps to develop and expand both domestic and international trade by facilitating transaction. 

(iv) Letter of credit: If businessmen and travelers require foreign currency, they have to open letter of credit (L/C) in the bank. The businessmen and travelers get payment as mentioned in L/C in other place/country. In this way, businessmen and travelers get L/C facility from commercial banks. Commercial banks also issue traveler’s cheque so that tourists can move from one place to another safely. 

(v) Other functions: Commercial banks perform various activities for the development of the country. Banks collects international and internal bills. They exchange foreign currency as well under the permission of central bank. Commercial banks help to collect capital for the newly established financial institutions. Commercial banks also purchase and sell government securities (treasury bills, national saving certificate, and national development bond) as well as shares of different companies and corporations. Commercial banks also work as government and central bank’s agent under the certain condition in the places where central bank is absent. Commercial banks also help to protect important documents and valuable metals, such as diamond, gold, silver, etc. as locker facility.

Concept of Capital and Money Market

The financial market refers to a mechanism through which financial instruments, such as treasury bill, civil saving certificate, shares, debentures, etc. are transacted. The financial market is the heart of the financial system.

According to S.K. Cooper and others, “financial markets are the markets in which financial instruments are traded”. There are two types of financial market, namely (i) capital market and (ii) money market.

Capital Market

The market, which deals with the long-term loan, is called capital market. So, capital market makes available loan for long-term investment.

World Bank has defined the capital market as, “market in which long term financial instruments, such as equities and bonds are raised and traded”.

Money Market

The money market refers to the entire areas where money is brought and sold. The transaction may take place between different persons by telephone, fax, e-mail, internet, etc. without meeting. The short-term loan is available in money market. Generally, the term of loan is less than one year. World Bank has defined the money market as“a market in which short term securities, such as treasury bill, certificates of deposits and commercial bills are traded”

        Distinction/Difference between Capital and Money Market
	Basis of Difference
	Capital Market
	Money Market

	i. Maturity
	The maturity period of instruments in capital market is more than one year.


	The maturity period of instruments in money market is less than one year.


	ii. Risk
	Risk is high in capital market because there is more possibility of default of credit due to long-term nature.
	Risk is low in money market because there is less possibility of default of credit due to short-term nature.


	iii. Instruments
	The main instruments of capital market are debentures, equities shares, government securities, etc.
	The main instruments of money market are Treasury bill, commercial papers,  certificate of deposits, etc.

	iv. Institutions
	The main institutions are development banks, finance company, provident fund, insurance company, etc.
	Different financial institutions related to short-term credit participate in money market. But, there is predominance of commercial banks.


	v. Finance
	The capital market receives long term term deposits and provides long term loan of huge amount.


	Money market receives short-term deposits and provides short-term loan of small/medium amount.


	vi. Relation with central bank
	Capital market has indirect relation with central bank. The central bank affects capital market through money market.
	The money market has close and direct relation with central bank. The central bank implements monetary policy through money market.


UNIT: 11 GOVERNMENT FINANCE OR PUBLIC FINANCE
Concept of Government Finance ( or Public Finance)
Public finance deals with the income and expenditure of government. The government raises incomes from various sources and spends on various activities. According to Dalton Shirras, “public finance is a science concerned with income and expenditure of public authorities”. Public finance is the study of the fiscal aspect of the government. Public finance includes following aspects of the government:

(i)Government revenue (or Public revenue)
(ii)Government expenditure (or Public expenditure)
(iii)Government debt (Public debt)
(iv)Financial administration

(v)Fiscal policy

Classical economists neglected the importance of public finance. But, the importance of public finance increased after the great economic depression of 1930 A.D. It was realized that the government income and expenditure have significant effect on national economy.













Importance of Government/Public Finance

The main importance of public finance can be explained under following heading:
(i)Allocation of resources: The government can allocate limited means/resources efficiently by using fiscal tools. Government can divert the resources from unproductive to productive sector with the help of income and expenditure policy.

(ii)Capital formation: Capital formation is sine qua non (essential condition) for the development of the countries. Developing countries suffer low capital formation. So, the capital accumulation is the main problem of developing countries like Nepal. In order to increase the capital accumulation, saving should be increased. The government should increase public saving through taxation policy. The government can increase the stock of both physical and human capital with the help of public expenditure.

(iii)Redistribution of income and wealth: Public finance helps to redistribute income and wealth in favor of poor people. For this, government may impose progressive taxes. The collected revenue is spent on the welfare of poor people. Hence, public finance helps to reduce income and wealth inequality.

(iv)Promotion of economic development and employment: Government may play significant role in the development of economy. The public expenditure should be used in the construction of physical and human capital. Consequently, employment level increases in the economy.
(v)Correction of balance of payment: When a country is unable to earn foreign currency through export of goods and services, the balance of payment problem arises. Government can correct the unfavorable balance of payment through fiscal policy. For this, government can discourage import of goods via high custom duty, quota, etc.

Importance of Government/Public Expenditure

Nowadays, government has to perform so many activities. For this, a large amount of resource is to be spent. The main importance of public expenditure can be explained under following headings:

(i)Construction of infrastructure: The infrastructure like transportation, communication, electricity, irrigation, etc. is prerequisite of development process. So, Government has to spend a huge amount of budget for the development of the infrastructure. The government can develop the human capital by spending more on social sector, such as health, education, nutrition, etc.

(ii)Preserve and promote the national identity: The government expenditure is essential to preserve and promote the national identity. The government has to maintain peace and security and law and order in the country. Similarly, the government has to protect the country from foreign attack. The government can perform these tasks only through public expenditure.
(iii)Providing social services: The government has to provide social services. The government can provide social services through public expenditure. The government increases social service by spending for old age allowance, disable allowance, public park, education, etc.

(iv)Distribution of benefit: If only rich people get the fruit of economic growth, political instability and other problems will generate in the country. So, the government should distribute the benefit of economic growth in favor of poor people through public expenditure.
(v)Economic development and growth: The main task of government in developing countries is to accelerate the pace of economic development and growth. For this, government has to spend a large amount of budget through development plan. Government should spend a huge amount of budget in infrastructure, peace and security, and economic and social sectors. Government can produce a large amount of goods and services by establishing public enterprises with large-scale investment.

Classification of Government/Public Expenditure

Different economists have classified government expenditures differently. They are as follows:

On the basis of nature
(i)Recurrent expenditure: Expenditure made on regular headings.
(ii)Capital expenditure: Expenditure made on development headings.
Classification of government/public expenditure on the basis of political division of the country

(i)Central or national expenditure: Expenditure made by central government on different activities.

(ii)State or semi-national expenditure: Expenditure made by state government on different activities.

(iii)Local expenditure: Expenditure made by local government, such as District Development Committee (DDC), Village Development Committee (VDC), Metropolitan City, etc.

Classification made by Mrs. Ursula Hicks

(i)Defense expenditure: Expenditure made on military activities, equipments, and weapons and equipment producing industries, salary, etc.
(ii)Public administration expenditure: Expenditure made on general administration, and law and order.

(iii)Economic expenditure: Expenditure made on transport, communication, electricity, etc.

(iv)Social expenditure:  Expenditure made on social welfare, such as health, education, etc.

Classification made by Adams

(i)Protective expenditure: Expenditure on police, army for the protection of property and life of people.

(ii)Commercial expenditure: Expenditure for the development of industry, trade, and business.

(iii)Development expenditure: Expenditure on drinking water, sewerage, irrigation, health, education, transport, communication, and so on.

Dalton has made following functional classification

(i)Expenditure made on head of the state and representative.

(ii)Expenditure made on public administration.

(iii)Expenditure made on police and army.

(iv)Expenditure made on judiciary administration.

(v)Expenditure made on the development of agriculture, industry, commerce, transport, etc.

(vi)Expenditure made on education, health, social security, etc.

(vii)Repayment of public debt with interest.

Government/Public Revenue

Government revenue is an important part of public finance. Nowadays, a government has to perform various activities. Therefore, the government needs a large amount of budget. For this, government receives income from various sources. Sources of government revenue are as follows:
(i)Compulsory payment, such as tax, fine, and compulsory loan.

(ii)Voluntary payment, such as fees, price, and voluntary loan.
(iii)Special assessment, gift, and grants which are neither voluntary nor compulsory payments.
(I) Tax revenue: Tax is the major source of government revenue. Taxes are compulsory payment to government without expectation of direct return. Therefore, the tax payers do not get direct benefit from taxes. There are two types of tax revenue. They are as follows:

a. Direct taxes: A direct tax is one which is really paid by the person on whom it is legally imposed. Generally, taxes on income and wealth are direct taxes because they are levied directly on people in accordance with the income they receive or the wealth they create, inherit or transfer. The impact and incidence of direct taxes fall on the same person, i.e., the tax payer is also the tax bearer. For example: (a) land revenue and registration (b) tax on property, profit and income. This source includes income tax from public corporations, private corporate bodies, individuals, urban houses, land tax, vehicle tax and tax on interest.

b. Indirect taxes: An indirect tax is one which is imposed on one person, but it is paid partly or wholly by another. Generally, taxes levied on goods and services are called indirect taxes because they are levied indirectly on the people who eventually bear the burden or incidence of the tax. The impact and incidence of indirect tax fall on different persons; i. e. indirect tax payers shift the burden of tax. For example: (a) custom duties (b) tax on consumption and product of goods and services (excise duties, sales taxes, value added tax, entertainment tax, etc.).

(II) Non-tax revenue: The non-tax revenue consists mainly of following sources:

a.Grants and Gifts: The fund provided by the central government to the state or local government is known as grants. The fund provided by others to the government is known as gifts.
b.Escheat: The claim of government for the property on the death of a person who does not have legal inheritance is called escheat.

c.Fees, License, and Permits: Fee means the amount raised by the government for services.  Government gets revenue through license and permits as well.

d.Fines and Penalty: The fine is the monetary penalty for doing illegal works. The additional amount to be paid for not paying within fixed time is also the fine. The amount to be paid for violation of bail is called penalty.

e.Special assessment or betterment levy: The charge levied on the property benefited from some public improvement work is called special assessment or betterment levy.

f.Income from public property: The government receives income as a landlord by renting land, forest, river, mineral resource, etc. Public enterprises produce goods or services and they sell to people which generate income to the government.

g.Foreign grant or loan: Government of a country receives grant or loan from foreign government and international institutions for development programs.

Classification of Taxes on the basis of form
On the basis of form, taxes can be classified into (i) direct tax and (ii) indirect tax
Direct Tax

If a tax is imposed on one person and the impact and incidence (or burden) of the tax fall on the same person, it is called direct tax. For example: income tax, land tax, etc.
Features
The features of direct tax are as follows:

Merits

(i)Equality: Direct tax is based on the ability to pay principle. So, direct tax has a feature of equality. Rich people have to pay more direct tax and poor people have to pay less direct tax because direct taxes can be imposed progressively.

(ii)Economy: Direct tax is imposed on the source. So, the collection cost of direct tax is low. In this sense, direct tax is economical in nature.

(iii)Progressive: Direct tax can be imposed progressively. It means direct tax is high for rich people and low for poor people. This helps to reduce income and wealth inequality.

(iv)Certainty: The taxpayers know the amount to be paid, time of payment and method of payment of tax. Similarly, the government knows the volume of revenue to be earned from direct tax.

(v)Elastic: The revenue from direct taxes increases with the increase in income and property and vice versa. Revising tax rate as necessary can also increase the revenue. In this sense, direct tax is elastic in nature. 

(vi)Educative: The direct taxes make people aware. It means direct taxes make the taxpayers aware of their obligation. They become conscious of their rights and duties. It enhances sense of participation in public affairs.

(vii)Anti-inflationary: The direct tax is an important weapon to reduce inflation. Generally, direct tax rate is increased during inflation in order to curb inflationary condition of the economy.

Demerits

(i)Inconvenient: Taxpayers have to maintain records of tax payment. They have to visit tax office frequently and lump sum amount has to be paid once in year. In this sense, direct tax is inconvenient.

(ii)Possibility of evasion/cheating: Taxpayers may submit wrong information to the tax office. They may conceal actual income and property to escape from tax payment. It may create black marketing and corruption in the country.

(iii)Limited scope: Direct tax is collected only from rich people. Majority of people are poor in under-developed countries like Nepal. So, the government cannot collect substantial amount of revenue through direct tax.

(iv)Arbitrary: Direct tax is not based on any scientific formula. Government changes the rate of direct tax every year in arbitrary manner. It may have serious effect on people.

(v)Lack of inspiration: Direct tax has no inspiration quality. It kills sprit of people to work more, to earn more, to save more, and to invest more.

Indirect Tax

If a tax is imposed on one person and paid by another person, it is called indirect tax. Hence, the burden of indirect tax shifts. For example: VAT, custom duty, sales tax, etc.
Features

The features of indirect tax are as follows:

Merits

(i)Difficulty of evasion/cheating: It is difficult to evade indirect tax because indirect tax is included in the price of commodities and services.

(ii)Broad based: The base of indirect tax is wide. All consumers have to pay indirect tax. So, a large amount of revenue can be collected through indirect taxes.

(iii)Convenient: It is convenient to pay indirect tax because consumers while purchasing commodities pay indirect tax.
(iv)Elastic: Indirect tax is elastic. Increasing tax rate as necessary can increase revenue.
(v)Social value: The indirect tax has social value as well. The imposition of high tax on harmful commodities like cigarette, liquor, etc. discourages their consumption. Consequently, social welfare promotes.

Demerits

(i)Regressive in nature: Indirect tax of same rate is imposed to rich people and poor people while purchasing same goods. So, the burden of indirect tax is high on poor people as compared to rich people. In this sense, indirect tax is regressive in nature.

(ii)Uneconomical: Government has to employ many staffs to collect indirect tax. Sometimes, the cost of tax collection may be greater than the revenue. It is against the principle of good tax system.

(iii)Uncertainty in revenue: If the government increases the rate of indirect tax, price of goods and services rises and then consumption level declines in the economy. Consumers also use substitute goods if available. As a result, government revenue falls.

(iv)Uneducative in nature: People pay indirect tax while purchasing goods and services. They do not directly feel the burden of indirect tax. So, they do not respond towards the government expenditure. It indicates that indirect tax does not create peoples’ awareness.

(v)Unproductive tax system: Indirect tax increases price of goods and services. As a result, consumption expenditure increases and then level of saving declines. This directly affects capital formation.

Classification of direct taxes on the basis of method

On the basis of method, taxes can be classified into following types:

(I) Progressive Tax: If the tax rate increases with the increase in the income and wealth level and vice versa, it is said to be progressive tax. 
Table: Progressive tax

	Tax Base (Income in Rs.)
	Rate of tax (%)
	Total amount of tax (Rs.)



	5,000

10,000

15,000

20,000
	5

10

15

20
	250

1,000

2,250

4,000



                                             Fig. Progressive tax
(II) Proportional Tax: If tax rate remains same although the income and wealth level change, it is said to be proportional tax. 

Table: Proportional tax

	Tax base (Income in Rs.)
	Rate of tax (%)
	Total amount of tax (Rs.)



	5,000

10,000

15,000

20,000
	10

10

10

10
	500

1,000

1,500

2,000



                                        Fig. Proportional tax
(III) Regressive Tax: If tax rate declines with the increase in the income and wealth level and vice versa, it is said to be regressive tax.
Table: Regressive tax

	Tax base (Income in Rs.)
	Rate of tax (%)
	Total amount of tax (Rs.)



	5,000

10,000

15,000

20,000
	20

15

10

5
	1,000

1,500

1,500

1,000


                 
                                                       Fig. Regressive tax
(IV) Digressive Tax: If the tax system remains progressive up to certain limit and after that it becomes proportional, it is said to be digressive Tax. In this way, there are the combined characteristics of the progressive and proportional taxes in digressive tax. 
Table: Digressive tax

	Tax base (Income in Rs.)
	Rate of tax (%)
	Total amount of tax (Rs.)



	5,000

10,000

15,000

20,000

25,000

30,000
	5

10

15

15

15

15
	250

1,000

2,250

3,000

3,750

4,500


        
                                                      Fig. Digressive tax

Characteristics of Good Tax System (or Principle of Taxation)
The characteristics of good tax system or canons of taxation are as follows:
(i)Principle of ability: A good tax system possesses the quality of ability. It means, all should pay according to ability. For this, the tax system should be based on the principle of ability to pay, i.e. the tax must be levied according to the tax paying capacity of the individuals.
(ii)Principle of certainty: Amount, time, place, method of payment, and the authority to which the tax is to be paid should be clear and certain. This helps to tax payers to adjust the income and expenditure. It also ensures the government about the source and amount of tax revenue.
(iii)Principle of convenience: While imposing tax, the time and method of tax payment should be convenient to the taxpayers. A convenient tax system encourages taxpayers to pay tax in time. For example: land revenue should best be collected at the time of the harvest, the income tax from the salaried class should be collected only when they get their salaries from their employers, etc.
(iv)Principle of economy: A good tax system should possess canon of economy. It means its collection cost should be low as far as possible. All extravagance or unnecessary expenditure in the collection of taxes should be avoided. The tax should not have adverse effect on production.
(v)Principle of elasticity: The tax system should be elastic. The tax system is to be easy to increase according to need. During an emergency, government is forced to collect more and more revenue. So, the elasticity in taxation will help the government to enhance/increase the revenue.
(vi)Principle of simplicity: The tax system should be simple, easy, and understandable even to common people. People do not hesitate to pay tax only when they can easily understand the aim, method of payment, time of payment, and effect of tax. The procedure must be simple in nature so that taxpayers are able to understand and calculate it.
(vii)Principle of uniformity: The tax system should be uniform. The method of imposing all taxes should be same. Similarly, tax rate should be uniform.

Government Borrowing (or Public Debt): Concept of Internal and External Borrowing

When government expenditure exceeds revenue, it is called deficit budget. Government finances deficit budget by taking loans, which is called government borrowing. Government borrowing can be of two types. They are as follows:
Internal Borrowing

The government borrowing had started only from 19th century to meet deficit budget. The public debt or government borrowing is only a temporary source of government revenue. It is because the debt should be repaid with interest after maturing.

The debt taken from individuals and institutions of a country is called internal or domestic debt. The internal debt is received in national currency. The internal loan may be voluntary or compulsory. The government raises internal debt from following two sources:

(i) Market borrowing: The market borrowing is the debt received by selling government securities like treasury bills, national development bond, civil saving certificate, etc. in the market.

(ii) Non-market borrowing: The non-market borrowing is the debt received by means of non-transferable instruments. Government receives loans from insurance company, postal saving bank, provident fund, and central bank. Government also raises loans from private individuals.

External Borrowing

The debt taken from foreign government, individuals, institutions and international institutions is called external debt/borrowing. The foreign debt is available in foreign currency. This type of borrowing is taken at the time of war, famine, and earthquake or to implement development projects. In the case of external borrowing, the government usually borrows from non-market sources like foreign government and multilateral institutions.










Government Budget

Q. What is meant by government budget? What are the processes of government budget formulation?

Ans:  The term ‘budget’ was originated from French word ‘bougette’, which means leather bag. The statement of the revenue and expenditure of government is called government budget.

According to World Bank, “annual budget is usually the legal authority for public spending. It is ideally one year sliced of a medium term expenditure plan”.
The government budget contains (i) actual revenue and expenditure of previous fiscal year, (ii) revised estimate of revenue and expenditure of current fiscal year, and (iii) estimate of revenue and expenditure of coming fiscal year. The common processes of government budget formulation are as follows:

(i) Estimation of overall expenditure and revenue: The first step of the budget formulation is to estimate the expenditure and revenue of government. Government estimates the expenditure and revenue on the basis of previous year’s expenditure and revenue. Ministry of finance asks to different ministries and departments for recurrent expenditure of the concerned activities for coming fiscal year. Similarly, government estimates capital expenditure on the basis of projects approved. Ministry of finance takes the advice with the national planning commission to allocate budget on developmental projects. Government estimates income from different sources. It estimates the tax revenue, non-tax revenue, and foreign aid. If the estimated expenditure exceeds the estimated revenue, it is called deficit budget. Government also estimates the loans from the different sources in order to finance deficit budget.
(ii)Approval of budget: Ministry of finance reviews the estimated expenditure and revenue and there is discussion between ministry of finance and concerned ministries, departments, and offices. After the completion of discussion, Finance Minister presents the budget in the parliament. The members of parliament discuss on the different issues of income and expenditure. The parliament approves budget either in the same form or with revised form. The budget approved by parliament is sent to the king or president for sign. After getting a sign from head of the state (king or president), the budget goes for execution.
(iii) Execution of budget: Government executes approved budget through different ministries, departments, and offices. The execution process runs according to the rules and regulations made by the parliament.

(iv)Auditing and evaluation of budget: Auditing and evaluation are last stage of budget formulation and execution. In the auditing process, the auditors judge the expenditure to confirm whether it is according to the rules and regulations or not. The auditor general prepares final report of the auditing and evaluation and the report is submitted to the head of the state. The head of the state sends it back to the parliament for discussion.

The cyclical process of Government Budget Formulation is presented in the following diagram:

Budget estimation                    (
Budget approval

   Concerned offices                                             Parliament

   Departments                                                     Head of the state

   Ministries

   Ministry of finance (MoF)                                                 

   National planning commission (NPC)      
         (
               (
Auditing and evaluation               (    
  Budget execution

   Auditor general                                                  Concerned offices
   Head of the state                                                 Departments
   Auditing committee of parliament                      Ministries
   National planning commission (NPC)               Ministry of Finance (MoF)
                                                                               Finance controller 

UNIT: 12 INTERNATIONAL TRADE

The transaction of goods and services between the countries is called international trade. Generally, a country exports those goods, which can be produced at lower cost and imports those goods, which cannot be produced at lower cost. According to Miltades Chacholiades, “exchange of goods and services among residents of same country is called domestic trade. The exchange of goods and services among residents of different countries is called international trade”.

Role/Importance of International Trade

Importance of international trade can be explained under following headings:

(i)Benefit of specialization: International trade encourages international specialization. A country produces that commodity which can be produced comparatively at lower cost. It means every country specializes in the line of production in which it can be the most efficient.
(ii)Cheaper and qualitative goods: The consumers can get qualitative goods cheaply due to the international trade. The freely imported goods are cheaper. International trade ensures a lower price for exports as well as imports. In this way, every consumer, in the world, is benefited by international trade. Domestic countries receive raw materials, equipments, machinery, and chemicals from abroad at lower price through international trade. It helps to reduce the cost of production and then producers are able to sell their products at lower prices.
(iii)Promotion of competition: The international trade promotes competition. The monopolist exists in the absence of international trade. Monopoly cannot come up in a system of international trade. World competition leads to the production of qualitative goods at lower price.
(iv)Expansion of market: The international trade expands the size of market. The majority of least developed countries including Nepal have small industrial market. In this case, international trade helps to expand the market. As a result, producers can produce many goods for profit without any difficulties.
(v)Gain of technology: The new and improved technology is essential in the development of industrial and agricultural sectors. The developing countries are backward in technological development. The international trade helps to receive improved technology from technically advanced countries. Consequently, developing countries can attain rapid economic development.
(vi)Increase in government/public revenue: The main source of public revenue is various taxes. Government can increase government/public revenue with the increase in international trade through custom duties, sales tax, VAT, excise duty, etc.

(vii)Change in life style: International trade increases personal contact between people of different countries. It helps to exchange way of living, art, culture, tradition, and thinking of people living in different countries. Consequently, life style of people changes.

Concept of Balance of Payment 

The balance of payment (BOP) of a country is a systematic record of its receipts and payments in international transactions in a given year. Each transaction is entered on the credit and debit sides of the balance sheet. According to Benham, “balance of payment of a country is a record of its monetary transaction over a period with rest of the world”.
The principal items on credit side (factors causing inflow of foreign currency)
(i)Visible exports, i.e. export of goods.

(ii)Invisible exports, i.e. export of services.

(iii)Transfer receipts in the form of gifts from foreigners.

(iv)Borrowing from abroad and investment by foreigners in the country.

(v)Official sale of reserve assets including gold to foreign countries and international institutions.
The principal items on debit side (factors causing outflow of foreign currency)
(i)Visible imports, i.e. import of goods.

(ii)Invisible import, i.e. import of service.

(iii)Transfer payment to foreigners in the form of gift.

(iv)Loans to foreign countries and investment by nationals in the foreign countries.

(v)Official purchase of reserve assets including gold from foreign countries and international institutes.

If the total receipt from foreigners on credit side exceeds the total payment to foreigners on debit side, the balance of payment (BOP) is said to be favorable or surplus. On the other hand, if the total payment to foreigners exceeds the total receipt from foreigners, the balance of payment (BOP) is said to be unfavorable or deficit.

Current Account

1. Net Exports of goods and services (NX)                                                                   ……

           Exports of goods and services (+)                                                   ……

                             Goods (+)                                                    ……

                             Services (+)
      ……

           Imports of goods and services                                                         ……

                              Goods (-)                                                    ……


Services (-)
       ……

2. Net Factors Income from abroad (NFIA)                                                                                  ……

           Income received by residents from abroad (+)                                ……

           Income received by foreigners from the country (-)                        ……

3. Net unilateral transfers (grants, workers' remittance, pension, etc.)                             ……

           Unilateral transfer received by residents (+)                                    ……

           Unilateral transfer received by foreigners (-)                                   ……

A. Current Account Balance (CA)                                                                            1 + 2 + 3

Capital and Financial Account

1. Capital Account                                                                                                                                          ……

    Net capital account transactions (capital grant, migrants' transfer, debt forgiveness, etc.)    ……

                          Unilateral transfer received of assets (+)                                              ……

                          Unilateral transfer payment of assets (-)                                               ……

2. Financial Account                                                                                                                                       ……

            Net financial flows (foreign direct investment, portfolio investment, etc.)                       ……

                           Financial inflow (+)                                                                             ……

                           Financial outflow (-)                                                               ……

B. Capital and Financial Account Balance (KFA)                                                      1 + 2                    

Total (A + B)                                                                                                                            …..                                      

Concept of Balance of Trade(BOT)
The balance of trade is the difference between the value of goods exported (X) and imported (M). BOT = X - M. It contains the first one item of the balance of payment account on the credit and the debit sides. In this way, balance of trade consists of only export and import of goods. It is a narrower term/concept than balance of payment. 

If the export of goods exceeds the import, it is called favorable/surplus balance of trade and if the import exceeds the export, it is called unfavorable/deficit balance of trade.

Free Trade and Protectionism

Free Trade

Free trade refers to a trade policy without any tariffs, quotas, subsidies, and other devices. It means there are no barriers or obstacles on the way of export or import. Under free trade policy, government does not make any kind of discrimination between national and foreign goods. The classical economists were in favor of the free trade policy.

Advantages

Arguments for free trade or Advantages of free trade are as follows:

(i)Benefit of specialization: Free trade encourages international specialization. A country produces that commodity which can be produced comparatively at low cost. It means every country specializes in the line of production in which it can be the most efficient.
(ii)Cheaper and qualitative goods: The consumers can get qualitative goods cheaply due to the free trade. The freely imported goods are cheaper. Free trade ensures a lower price for exports as well as imports. In this way, every consumer, in the world, is benefited by free trade. Domestic countries receive raw materials, equipments, machinery, and chemicals from abroad at lower price through free trade. It helps to reduce the cost of production and then producers are able to sell their products at lower prices.
(iii)Promotion of competition: The free trade promotes competition. The monopolist exists in the absence of free trade. Monopoly cannot come up in a system of free trade. World competition leads to the production of qualitative goods at lower price.
(iv)Expansion of market: The free trade expands the size of market. The majority of developing countries including Nepal have small industrial market. In this case, free trade helps to expand the market. As a result, producers can produce many goods for profit without any difficulties.
(v)Gain of technology: The new and improved technology is essential in the development of industrial and agricultural sectors. The developing countries are backward in technological development. The free trade helps to receive improved technology from technically advanced countries. Consequently, developing countries can attain rapid economic development.
Disadvantages

Arguments against free trade or Disadvantages of free trade are as follows:

(i)Exhaustion of natural resources:  Developed countries import mineral and forest based raw materials and semi-finished goods from developing countries at low cost due to free trade. Later they export same materials and goods as finished goods. In this way, the developed countries exploit the developing countries through free trade. Free trade exhausts the natural resources of the country. As a result, developing countries become poor in terms of natural resources.
(ii)Danger to the domestic industries: Free trade may be dangerous for domestic industries. The industries of developing countries are almost in infant stage. They cannot compete with the industries of developed countries. Domestic industries always feel insecure due to free trade.
(iii)Less benefit to under-developed countries: Free trade gives less benefit to under-developed countries like Nepal. It is now recognized that under-developed countries can be developed under a policy of protection and not of free trade. The free trade goes generally in favor of the advanced and efficient countries. Under-developed countries cannot compete easily with developed countries.
(iv)Dumping: The free trade creates cut-throat competition in the world market. This leads to dumping. Dumping means selling a product in a foreign market at a lower market price than in the home market. The advanced countries can supply the goods at low cost. The producers of the less developed countries cannot compete with them. The small scale and other industries may be collapse. 

(v)Dependency on imports: Free trade leads to dependency on imports. So, the policy of protection is required to make the country self-dependent. The free trade allows the movement of goods. In this situation, businessmen can import easily and the producers do not feel necessary to produce such goods in the country.

Protectionism

The term protectionism refers to the policy whereby domestic industries are to be protected from foreign competition. Domestic industries can be protected by providing subsidy or imposing tariff or custom duties on import of foreign goods. According to R.G. Lipsey and C. Harbury, “Governments intervene in international trade for both economic and non-economic reasons. Such intervention is usually called protection”.

Under this policy, two types of instruments are used, namely (i) tariff barriers (custom duty) and (ii) non-tariff barriers (quota system, exchange control, subsidy, trade by government, etc.). 

Advantages

Arguments for protectionism or Advantages of protectionism are as follows:

(i)Infant industry argument:  This is the most widely accepted argument in support of protectionism. Protection policy protects the infant industries of developing countries. To protect such industries, a high tariff is imposed. This helps to secure the internal market for infant industries of under-developed countries and the countries go towards the self-dependency.
(ii)Balance of payment argument: Protection policy helps to correct unfavorable balance of payment. This policy reduces import of unnecessary goods and services and promotes the export. As a result, outflow of foreign currency decreases.
(iii)Promotion of employment: The protection policy secures the internal market for the products of domestic industries. Consequently, country’s industrial sector expands and develops and then employment opportunity goes up.
(iv)Preserving key industries: Protection policy preserves key industries, such as iron, steel, electricity industry, etc. These industries are essential for the development country. Protection is needed to preserve these industries. For this, subsidy is more appropriate than control in import.
(v)Diversifying of industries: Protection policy helps to diversify the industries of a country. There should be balance growth of the economy so that all the sectors of the economy develop side by side. For this purpose, agriculture and manufacturing industries should be protected from foreign competition.

Disadvantages

Arguments against protectionism or Disadvantages of protectionism are as follows:

(i)Creation of monopoly: The protection is the mother of monopoly. In the absence of free trade, few industries of developing countries convert into monopoly because they do not have to face competition. In this way, monopoly flourishes behind protectionism.
(ii)Increase in inequality: The protection policy increases the inequality in the distribution of national income. It means the gulf between rich people and poor people increases due to protection policy. Industrialists become richer and richer, but laborers are not able to increase income level remarkably.

(iii)Misunderstanding between countries: If a country adopts protection policy, other countries may also follow suit in response. This creates misunderstanding between countries and also creates the atmosphere of war.
(iv)Fear of permanency: The protection once given to the infant industries is difficult to remove. The temporary protection may turn into permanent one. The protected trade reduces the competitive opportunity, which generates the monopoly in the economy. The existence of monopoly exploits the consumers. The protected trade also reduces the government revenue and it creates the budget deficit situation.

Foreign Trade of Nepal (Growth, Composition, Direction and Problems)

Foreign trade is the exchange of goods/services between one country to another country. It creates mutual benefit between countries. Generally, a country exports those goods/services, which can be produced at lower cost and imports those goods, which cannot be produced cheaply at home country.

Growth of Foreign Trade of Nepal

The history of foreign trade in Nepal had started before unification. Initially, trade of Nepal had been done with Tibet and India only. But, after the treaty between Nepal and East India Company, foreign trade extended with British and other countries as well. After the establishment of democracy in 2007 B.S., foreign trade is running systematically with various countries and volume of trade has also increased.

Table: Growth of foreign trade of Nepal

                                                                                                                              (Rs. in billion)
	Fiscal Year (FY)
	Export of Goods (X)
	Import of Goods (M)
	Balance of Trade (BOT) = X - M

	2014/15
	85.3
	774.7
	-689.4

	2015/16
	70.1
	773.6
	-703.5

	2016/17
	73.1
	990.1
	-917.0


This table reveals that total export was Rs. 85.3 billion and total import was Rs. 774.7 billion in FY 2014/15. In FY 2015/16, total export was Rs. 70.1 billion and total import was Rs. 773.6 billion. Similarly, total export was Rs. 73.1 billion and total import was Rs. 990.1 billion in FY 2016/17.
In FY 2014/15, total import exceeds total export by Rs. 689.4 billion, i.e. balance of trade was -Rs. 689.4 billion. In FY 2015/16, it was Rs. 703.5 billion, i.e. balance of trade was -Rs. 703.5 billion. Likewise, it was Rs. 917 billion in FY 2016/17, i.e. balance of trade was -Rs. 917 billion.
In this way, total import exceeds total export remarkably in every fiscal year. That is, trade deficit is huge and it is in increasing trend. 

Composition of Foreign Trade of Nepal

Composition of foreign trade comprises the amount of export/import and nature and types of goods. Nepal exports jute, pulse items, sal seeds, ginger, live animals, food, carpet, readymade garments, handicrafts, herbs, etc. and imports finished goods, raw materials of industry, machinery equipment, chemical fertilizers, petroleum products, medicines, etc.

Table: Export and Import, FY 2015/16
	Categories


	Export (X)
	Import (M)

	
	In Rs. million
	In percent
	In Rs. million
	In percent

	1. Food and live animals
       (rice, wheat, orange, apple, cow, sheep, etc.)
	16421
	23
	           109756
	14

	2. Tobacco and beverage
       (cigar, wine, beer. etc.)
	478
	1
	6413
	1

	3. Crude materials and inedible
(raw hide, raw fur, raw jute, pig fur, etc.)
	2218
	3
	33392
	4

	4. Mineral fuel and lubricants
(petrol, kerosene, diesel, coal, etc.)
	1
	0
	84088
	11

	5. Animals and vegetable oil and fats
(animal fat, vanaspati oil, etc)
	107
	0.2
	21153
	3

	6. Chemicals and drugs
(paints, enamel, cosmetics, medicines, etc.)
	4618
	6.8
	103962
	13

	7. Classified by material
(leather goods, floor carpet, tiles, etc.)
	32666
	47
	163132
	21

	8. Machinery and transport equipment
(weaving machine, freeze, vehicle engine, etc.)
	400
	1
	189764
	
25

	9. Miscellaneous manufactured articles
(torch light, battery, furniture, shoes, etc.)
	13205
	18
	45864
	6

	10. Not classified (other animals not included elsewhere like dog, cat, parrot, lion, etc.)
	3
	0
	16074
	2

	Total
	70117
	100
	773598
	100


As per given table, the major exported goods of Nepal are classified by material, food and live animals and miscellaneous manufactured articles. The major imported goods of Nepal are machinery and transport equipment, classified by material and food and live animals.
Direction or Trend of Foreign Trade of Nepal
Table: Direction of Foreign Trade of Nepal
   (in percent)

	Countries
	2014/15
	2015/16
	2016/17

	
	Export
	Import
	Total
	Export
	Import
	Total
	Export
	Import
	Total

	India
	65.5
	63.5
	63.7
	56.3
	61.7
	61.3
	56.8
	64.0
	63.5

	China
	2.6
	12.9
	11.9
	2.4
	15.0
	13.9
	2.3
	12.9
	12.1

	Other Countries
	31.9
	23.6
	24.4
	41.3
	23.3
	24.8
	40.9
	23.1
	24.4

	Total
	100.0
	100.0
	100.0
	100.0
	100.0
	100.0
	100.0
	100.0
	100.0


Share of trade of Nepal was 63.7 percent with India, 11.9 percent with China and 24.4 percent with other countries in FY 2014/15. In FY 2015/16, it was 61.3 percent with India, 13.9 percent with China and 24.8 percent with other countries. Likewise, it was 63.5 percent with India, 12.1 percent with China and 24.4 percent with other countries in FY 2016/17.
In this way, India is the largest trade partner of Nepal. Share of foreign trade of Nepal with China is also significant.
Problems of Foreign Trade of Nepal

(i)Landlockedness: Nepal is landlocked country. Therefore, it is difficult to trade with     abroad countries (third countries). Nepal has to depend fully with India for sea route. As a result, entrepreneurs sometimes cannot export and import the goods in time. Nepal is fenced by open border with India to east, west, and south and fenced by China in north. So, Nepal’s foreign trade is highly dependent with India. Various kinds of smuggling are taking place due to the long and open border between Nepal and India, which generates various problems.

(ii)Export of primary and low qualitative goods: Most of the Nepalese exportable goods are either primary or low qualitative. It is very difficult to make profit from the export of primary goods. Generally, Nepal exports raw materials and semi-finished goods and imports finished and capital goods. As a result, volume of unfavorable trade balance is increasing. Further, carpet and readymade garment, main exportable items of Nepal, could not compete in international market due to higher price and the lack of tax free and quota facilities.

(iii)Underdeveloped industrial sector: Nepal’s industrial sector is still in underdeveloped condition. Because of various reasons, existed industries are not operating smoothly at full capacity. Established industries could not produce sufficient amount of commodities. So, Nepal could not export a large amount of goods.

(iv)Lack of credit/loan facility: Due to the lack of adequate and sound financial institutions, entrepreneurs of Nepal could not receive required amount of credit/loan for the establishment, development and promotion of industries/enterprises. As a result, export of Nepal is lower.

(v)Lack of exploratory effort and research: Most of the Nepalese entrepreneurs/industrialists are poor financially. Therefore, they are unable to explore their products via international media. Because of inadequate exploratory effort, the demand of Nepalese Commodities is low. Research is necessary for the exploration and expansion of market in foreign countries. But, research for market is lacking in Nepal.

(vi)Tough competition with foreign goods: Nepal has adopted free trade policy. The flow of foreign goods has highly dominated Nepalese products in terms of price, quantity, and quality. Consequently, Nepalese products are losing their position not only in international markets, but in domestic market as well.
Comparative Cost Theory of International Trade
David Ricardo (1772 ( 1823) first propounded this theory. According to comparative cost theory of trade, a country will export those commodities in which its comparative advantage is the greatest and import those commodities in which its comparative advantage is the least. 

Assumptions

This theory is based on the following assumptions:

(i)There are only two countries, say England and Portugal.

(ii)They produce the same two commodities, say cloth and wine.

(iii)Only labor is the factor of production.

(iv)Prices of two commodities are determined by labor cost.

(v)There is free trade between the two countries.

(vi)All labor units are homogeneous.

(vii)Trade between the two countries takes place on the basis of the barter system.
This theory can be explained with the help of following table:

Table: Comparative cost theory of international trade
	Country
	Wine
	Cloth
	Domestic exchange rate



	England
	120
	100
	100 cloth : 120 wine

1:0.83

	Portugal
	80
	90
	80 wine : 90 cloth

1: 0.89


The adjoining table shows that the production of a unit of wine in England requires 120 men, while a unit of cloth requires 100 men. On the other hand, the production of same quantities of wine and cloth in Portugal requires 80 men and 90 men respectively.

Thus, England uses more labor than Portugal in producing both wine and cloth. In other words, the Portuguese laborers are more efficient than the English laborers.

In this case, England should produce only cloth and exports to Portugal. Similarly, Portugal should produce only wine and exports to England.

Gains from Trade

The table also shows that the exchange rate in England is 1 unit of cloth = 0.83 unit of wine and in Portugal 1 unit of wine = 0.89 unit of cloth. If we assume the exchange rate between the countries to be 1 unit of cloth = 1 unit of wine, England would gain 0.17 (1 - 0.83) unit of wine by exporting 1 unit of cloth to Portugal. Similarly, the gain to Portugal by exporting 1 unit of wine to England will be 0.11 (1 -  0.89) unit of cloth. Thus, trade is beneficial for both countries.

Criticisms

This theory has following criticisms:

(i) Unrealistic assumption of labor cost: This theory assumes that the price of two commodities is determined by labor cost alone. This assumption is unrealistic because it neglects non-labor cost involved in the production.
(ii) Unrealistic assumption of free trade: Another serious weakness of this theory is that it assumes perfect and free world trade. In reality, world trade is not perfect and free. 
(iii) Neglects the role of technology: This theory neglects the role of technology and innovation in the international trade. The technology and innovation play important role in the international trade.
(iv) One-sided theory: This theory is one-sided because it considers only the supply side of international trade and neglects demand side.
(v) Two country and two-commodity model is unrealistic: This theory is related to the trade between two countries on the basis of two commodities. This is unrealistic because international trade is among countries trading many commodities in reality.
(vi) Ignores transport cost: Ricardo ignores transport cost in determining comparative advantage of trade. This is highly unrealistic because transport cost plays an important role in determining the pattern of world trade.

General Concept of WTO and SAFTA
WTO(World Trade Organization)

WTO is one of the specialized organizations of United Nation. It is the modern form of GATT (General Agreement on Trade and Tariffs). GATT was established in 1947. The eight GATT conference held in Uruguay in 1994 declared to establish WTO. Consequently, WTO was established on 1st January 1995. Its headquarter is located at Geneva of Switzerland. There are 164 nations(Afghanistan is 164th member) as the member of WTO including Nepal. Nepal is the 147th member of WTO.

Objectives of WTO

(i)Solving trade conflict: To solve trade conflicts between member nations.

(ii)Minimizing custom duty and other trade barriers: To simplify and reduce custom duties and other trade barriers among member nations.

(iii)Sustainable economic development: To achieve sustainable economic development in each member nation.

(iv)Preserving environmental resources: To preserve and promote environmental resources in scientific way.

(v)Mobilizing resources: To mobilize the resources to increase real income, effective demand, and employment opportunities.

Principles of WTO

(i) Non-discrimination: To carryout international trade without discrimination.

(ii)Free trade: To ensure free trade among member nations.

(iii)Security guarantee: To provide security guarantee.

(iv)Open, fair, healthy, and liberal competition: To develop open, fair, healthy, and liberal competition among the member nations regarding their individual and commercial activities.

(v)Priority to economic development: To give priority on economic development process of developing nations through the provision of subsidies to their products.

SAFTA (South Asian Free Trade Area)

The concept of SAFTA was introduced in 11th SAARC summit held in Kathmandu. The final agreement to implement SAFTA was made in 12th SAARC summit held in Pakistan. SAFTA came into existence since 1st January, 2006. Before SAFTA, SAPTA (South Asian Preferential Trading Agreement) was existed.

Objectives of SAFTA 
(i)Fair competition: To promote condition of fair competition in the free trade area.

(ii)Eliminating trade barriers: To eliminate barriers of trade among member nations.

(iii)Implementation of trade agreement: To create effective mechanism for implementation of trade agreement.

(iv)Establishing framework: To establish a framework for further regional co-operation.

Principles of SAFTA

(i) Rules, regulations, decisions, understanding, and protocols: SAFTA will be governed by rules, regulations, decisions, understanding, and protocols (first and original draft of agreement).

(ii)Rights and obligations: The contracting states affirm (declare positively) their existing rights and obligations.

(iii)Overall reciprocity: SAFTA shall be based and applied on the principle of overall reciprocity (principle of give and take) and mutual advantages.

(iv)Free movement of goods: SAFTA shall involve in the free movement of goods.
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